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FINANCIAL ACCOUNTING
BC-101

[Maximum Marks : 80

(iv) 9373 %5 000 Note © Attempt Five questions in ali. Q. No. 1 is compulsory.
(v) T QT 50000 TH TEE T O10% Al ...E.n.,.:o:m.m.&ﬁ_, equal marks.
e & ﬂnﬂgqmﬂﬁmaﬂqﬁﬂﬂwgﬂma
: . . . . T | =g FFE R OA/E HHM F O
(b}  Explain capital expenditure, revenue expenditure and
deferred revenue expenditure. Give at least two 1. What is the ditfurence betwaen Joumnal and Ledger ?
examples of each of them. T i Tarael | __
J“,.hd_..,ﬁ._._d._ o7, A g AR Wi ST A A (hy  Detine account and explain the verioas 1pes of
e RIS | 390 W TEE F O IEE N | aceount.
mr 1 s sy Fa Bl WeR & =l
F T WU
(cy  Show the effect of these transaciion on  asscts,
tiahilities and capital through accounting equation :
. ¢
(Y Started business with cash 5,00,000
(3i7  Paid salary in advance 4,500
(ii;  Purchased geods from Mr. Ram 60.000
L-12501 12 12.600 1306/ 18)L-12501 P.T.0.



UL (TOm S i, 2> 000

Lol voods Lo easip o M Shvom 400000
AT ...h,m_:_,.__fm_,, CNCIENY

b Baueht AL e personal use 30.000

RGN 1 e clle ol o

4

() TWET F WY ST AR fRa 3.00.00

(T ® AT e T3 4.300
foomm g I w1 w9 o 60.000

(vl U9 =W EA 25,601

(v) A T w gl AE faEa 30,000
(F= S T T 30,0009

(vi) WA # U 0L ENAT 1 30.000

(dy  Distmguish beiweer Del Creders Comumission and

Overridine Commission,

ofeEisy i wfrart FeE ¥ own wAw ¥ 2
(e} M of Delhi consigned 2000 Telephone sets at T 100
cach to N of Hisar He paid freight of ¥ 1.300 and
insurance of T 300. N\ took the delivery of 1860
sets only and incurred the following expenses .
Octror ¥ 8.000; cartage T 2.000; selling expenses
T500. The consignee N sold 1600 seis. Calculate

the value of Abnormal Loss and Consi gnment Stock.

L-12501 2

AL T an LRy N
SO OWEER FET WA 9H | T T 1300 T
A7 %200 dm w femofmog

=0 2T 8.000: 1 areT 200 T amm v s
Yoo A 1600

FA | I
AT YU WE w qed AT UM mTEQ

2. What are difterent classes of errors 7 Explain with suitahic
example, the errors which do not atfect the mia! !
wfeal = fafa=t ol -7 7 7 2w Afeg
f& A swfeal aerve &1 gufad T

el

3. What is the importance of Accounting Coneepts 7 1.

any four important Accounting ﬁo:nﬂzm.
TEFA AN F A T S W e g
SAURONST ®T =

4. What 1s the difference hetween Book-keeping  and
Accounting ? Which parties are interested in aceountine
information and what are their needs in this content 7

- S oEEA H o 6§ 7 ShmiEy meeo

FA-FY 99 fea @A £ GR w7 wo

JOR

HETIRA. § 7

~riie o

A

i

(3-06/1 7 -12501 3 PO



5. (uy  What = Depreciation 77 AW hat re oy caiees

bRAINIE,

2000 anather

machine was purchased for € 1.8wimn On Ise haiv
2011, the machine purchased on Ist Aupust. 2009
was sold for ¥ 1.68.000 and on the same dale a
new machine was purchased for 3 u....:..:__:ﬁ.u.
Depreciation 1s charged @ 10% p.a. on Reducing
Balance Method. Books arc closec an 315 March
CVETY yedr.

Prepare Zmn_::md_... Account and frovision for
Depreciation Account,

7 Fv fafaee 3 T 3.00.000 59 1 TH

1 &T&E, 2000 1 =AE 1 FaEE, 2010

A Wy T L0000 F TR 1 1 FAE, 2011,

&, W oWl 1 e, 2009 1 wdar o,
T 1.68.000 H #w= fem v 3w o3 fE o W
Tyim T 2.00.000 9 @SOS T ) BE w2E vy fafy

.

% IHEN W10

. r "~

#road 3 W™ &) 9% i wEl § | HeR

7 m‘h— LS ﬁ AN T .m... _

o AW BE F U WM m R S )

L-12501 4

6. Poseonecossar aefjosine o eres in the follewng e

{a

{in

(d)

{e)

foxtracts of Trial Balance as on 317 Maveh, 2012
‘articulars Dr. Cr.
Bad debts Ac 8010

Provision for Bad debts

(1-4-2011) 2.500
Sundry Debtors 80.000

Create a provision for Bad and Doubtful Decbts
W& on Sundry Debtors.

Goods worth ¥ 1.20.000 were burnt by fire and
a claim of 80% was admitted by Insurance
Company.

A Airm earned a profit of T 1,10.000 before charging
Manager's Commission who 1s cntitled to a
commission of 10% on the net profits remaining
after charging his commission.

Goods costing T -5.000 were sent to a customer
on ‘Salc on Approval Basis™ for ¥ 6,400 are lying
with the customer but were recorded as actual
sale.

Vialue ot Closing Stock 15 T 40.000.

(3-06/180 .-12501 5 _ P.T.0.



ARET Al § Hargs wiafent i PHERE

(31) 31 W, 2012 & =omz % e .

)

(%)

L-12501

faarmr Dr. Cr.
EECE e o SO0

@ (1-422011) 2,500
fafay 2mEr 80.000

I AR Hwy wvi % fu fefrw dwe w s
wWaw F W T wEye s
V120000 79 %1 Tl am oeE g oam w
TSR A kT % 80% = wmn w3
fem

TH ®H 4 as

R 9@ T 1,10.000
F A SR fFW | wE w aw whee e
%ﬁﬂa%&ﬂwoﬁﬁwﬁﬂﬂmﬂﬂ
HEFT & )

T5.000 #f 9wy T wEF W faE w HAIEA'
@ﬂ%ﬂ@%i&gh%ﬁﬁﬁ%ﬁ@
T ¢ AR I avarE e F e 4 S
T

Afwm wfem w1 ger ¥ 40000 3

6

Vegetable Vil Compans. Puse consigned 16,000 kes of

Ghuee 10 their Ranes

1%t Noveinber.

& Coo Madras @ 315 per ko on

tor they puid T 10000 ag

freight and insurance charses. 230 Kes of Ghee was
destroved i manstt due to o acciden and  insurance
claim of ¥ 2,500 was received by Vegetable €4 Compuany,
Pune. Ramush and Co. teak the aelivery of Cuisignment
on 23U January. 2016 and on pext Jdav dispatehed an
accepted bill of T 1.06.000 for three months to Vegetable
Oil Company. Pune. On 31" March. 2016 the following

statement of account sales was received from Ramesh &

@) 7.300 kgs of Ghee was sold @ T 20 per ke,
() Fxpenses @ Rent of godown ¥ 500 waces T 1.000:

advertisement ¥ 500,

te: Ramesh ard Co. charped commission

(djy  Total consicament was short by 2350 kas of Ghee
due to leakage in transit,

(¢} Ramesh and Commany made full payment on
5 April, 2016 :

Prepare Consignment A/c. Ramesh & Co. Aic and Loss

by Accident A/c in the books of Vevetable Oil Company.,

Pune. Vegerable Oil Company, Punc had overstated the

price of Ghee by T 3 per ke

(3-06/79 12501 7 P.T.O.



TIAA T FAH, T 7 9 ¥ T TTowwRE, mI
|

FOL T, 25 E 10,000 fEm W T s wh
LFR AT T F fU G T #0000 g1

AR A W waE Ry 1 Om ow w® gdem F ogmom
D30 fEETE A T F A R A e 3 awerE A
AR VA A £ 2 B
L6 FD W ET TN o AR e
fe w0 §9 W2 31 =rm fae T 100,000 TTOR dF
FIH F A TG 5] w2016 T WY UT A g
e fagmw 3 7l :

(1) 7500 Tesmm =1 720 ©F T

T 1.000:

(F) =1 TRE F fEmE ¥ 500
& 500,

() W9 vE wmwl R g sv, mAnm ST

(¥) AF § 79E ¥ FTW 250 FAmWm oW w8 we
T |

) T TE FwEA TS 6, 2016 1 9 SR &
fazr

T T FIA, T e yEel § YOv @, Wy e

FIA F TA R THANRE BT @ BEEL 1

T A, TN A W Y9 ®W3 73w fEm aifvw

(

A

gea o fem e

L-12501 8

i &+

T of Reecipts and Pavments of Bombay
Al

-elical Ald Society for the vear ended 31.2.2013 are as

Tatowsy

Lashom hand (01-04-2013) 8.000
NUnsCriptions | 30.000
Denations 15,000
Interest on Investmemis 290, for Al vear
Pavment for Medicine Supplv 30.000
Doctor™s nomzrarom 10.000

e

Naimas 28,000
N.ndm Inpenses 1,000
F.dipment purchase 15,000
Expenses on Charity Show 1,500
Charity Show Collections 12.500

Additional Information

01-04-2012  31-03-2013
Subscription Due 1.500 2.200
Subscription received in
ads ance 1,200 700
Neack of Medicines 10.000 15,000

{306 2001 _12501 9 P.T.O.



Amount due to Medicine sfafiem ﬁn.m;_m( :

Supply 9 000 13.000 01-04-2012  31-03-2013
alue of equipment 21.000 30.000 MENERAL 1500 2.200
: - Hm wrE =T 20 700
Building (cost less depreciation) 50,000 48.000 7 | 1.-00 ,
_ . . THEG F T 10,600 15,000
Prepare Receipt and Payment A/c and Income and L A :
. i B a1 e B ARy 0.000 13.000
Fxpenditure Account for the vear ended on 31% March, 2013 Lo _ .
STFLOT F T 21.000 30000
and Balance Sheet as on that date. | T (FATE-EE) 50.000 48,000
A HEHS S WREE & 31.03.2013 F1 WA TE 31.03.2013 1 ww @8 # AU wiE @R gmem e
F fou wif| Ry # e = 7o R e wik =g @A 9ARU W 39 fafy w1 frefs-
4 & Ry |
Tk T (01-04-2013) 8.000 _ ) ] )
9. (a) Make Journal entries from the following
- = 50,000 .
transactions :
R 15,000 {1y Goods given away as charity T 1,000
AR M 9 QIOER I &L F G 99 B = 9.000 (i) Goods burnt by fire costing 7 5,000
T F Y W Wi 30,000 (iii) Kapil who owed Z 20,000 10 us
gy 1 AT 10,000 became nsolvent and only 60 paisa
GGk 28,000 in a rupee was recovered from his
fafay = - 1,000 estate
STEOT 7 15.000 (iv) Wages outstanding T2,000
D ep— 1,500 (v}  Purchased goods from X at list price of ¥ 50.000
.. at 10% trade discount.
@ W drew 12,500

L-12501% : 10 (3-06/21] ~12501 11 . P.T1.0.
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BC:/D-18 12502
MICRO-ECONOMICS
BC-102

Time : Three Hours} _ [Maximum Marks : 80

Note ;

Attempt Five questions 1n all. Q. No. 1 is cotmpulsory
which comprises of five short-answered questions of 4
marks each. Attempt four guestions trom the remaining
eight questions carrying 15 marks each. |

T WA ¥ oUW U Fifar, o @ w1 (s

"

T ovTH ¥, WerT U 4 3

FE F OB

Compulsory Question :

(a)
(b}

(c)

(d
(c}

Difference between Micro and Macro Economics.
Difference between Contraction of Demand and
Decrease in Demand.

Significance of the diffcrence between Tetal Utility
and Marginal Utility.

Internal and External Diseconomies of Scale.

Features of Monopoly, Sx4=20

(2-1413) L-12502(TR) P.T.O,
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L-12502(TR) 2

BIEEIRIC 7.
DI E B O M A P e i S S D EL

AT AR |

q A7 F HI

I =

(F) AT HEme Tl wWUoFfn T

(WY A TP FT HH AN
(2} ALE AR AT
(%)

,._ﬁ.“.p_ a3l

T TET F1 faemEd 8.

Explain whether liconomics s 4 science or an art or both.
1 fE T AU UE (AT € A Fon SFuE T 2

Explain the Law of Dimimishing Marginal Uulity. Discuss

the importance and limitations of this Law.

g smfre w9 fan =1 9o Fifse 0 | Fam =

Hed T RIS g9 FAAC | 9.

Explain the Consumer's Equilibrium with the help of

Indifference Curve Analvsis,
EEaiciior A F1 OGN [ OTTHET FI
calicRi “

Explain the Law of Variable Proportions. What are the
causcs of apphication of this Law ?
R aum ® frmowm wmmEe o3 e w osEwEn &

TN O E 7

Distinguish between Fixed Cost and Variable Cost. What

B

is the sigmiicance of this distinction
R EE AT
.mﬂ_. = OHEZ4 § /

Discuss the main lTeatures of Monopolistic Competition,

2-14149) L-12502(TR) 3

How are the Price and Output deternuned under 1 7
mETEITE T H g | TEF

T FEE A IARA w9 fAuife €@ OE 7

Under Perfect Competition a Firm can make nommal profits
in the long run while in the short run. it may not be the
case. Explain,

T UfgATE % A UE wH dEee § OO e

T Tehdl § WA AeUHIA H

FIT |

T g ASl & 7 49U

What is Elasticity of Demand ? Discuss ils importance.

q H A TN T ? TEE W FuRy |

13,300
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BCE/D-18 1250
PRINCIFLES OFF BUSINESS MANAGEMENT
RC-103

Time : Three Hours] [Maximum Marks : §0

Noiz © Attempt Five questiors in all. Q. No. 113 compuiant
Attempt any four questions more from the remaming
gignt questions carrytrg 15 marks cach.

F WE T FOIW AT | WS FET
oy oo A HE W FYT W, PO e

e

YT 15 3E =T

[

Compulss-y Question { F<~ F¥T)

1.  Answer all the following in brief : £x4=20
(a) What are the components of commerce ?
(by  What 1s Skill Inventories 7
{c) Write any four principles of planning.
(d) Explain virtual organtsation.
() Discuss the mgmonm:om of delegation of Authority.
19] .ﬂ:ﬂﬁ aﬁ ﬁql E nulhﬂ \J..m.mlu_._._.
(F) aiveg ® v=E F OE 7

(2-46/3) L-17343% P.T.0.



L-125C3

ﬂ.,d_;ﬁ T/
S ® R wr Trere fefeEw T

(3
(%)
(2) =Tdorer Tae7 w1 AaofR i

Iy h "

(3) oI ® [E =

Explain the conwibution of Henry Favol in the field of
Management. 15

QO W Y B ORI RN W 4TEE %] YRAED

What is meant by Cenmralisation ? How does it differ
from Decentralisation 15

§ 59 WK

Explain e nsun theonies o Leadersing 7 Fxamine them

critically, 15

TEH A S AT F SIS et 3t |

Discuss various conventional iechniques of managerial
control.
va=rRia fraem w5 fafam gemrm
IS |

th

Explan Uuchis 7 theors of motivaton, i

ST HT W Az faaman w1 oo Wi

bd

7. “Planning is fundamentally choosing. and a planning
problem arises when an alternative course of action is
discovered.” Explain this statement.

“fram g w9 F e s € osie
Jﬁmﬁﬁﬂ%wﬁjﬂw%wﬂmﬂ%%&%
IEF B 1 39 Fe w1 oae S

8. Define Organising. Discuss varjous principles  of
organisation. 15
TS Ui ST | wTeA # fafaes fagrd e
i fafau |

9. “Anything minus management is nothing.” Explain this
statement. 15
‘AR e B A A v @ e o S a9y g
A T 9 FYT H W Fifeg

(2-46/4) 1-12503 3 11,800
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BCE/D-18 12504
COMPUTER APPLICATIONS IN BUSINESS
2C-104

Time : Three Hoursi Maximum Marks ;80

Q. No. Uiy compulsory.

Note : Atiempl Five questions

£ ufe W e oger A o T Ao 1 ke

o - Sx1=20

RS L

1. Answer bw foilowing

n et desktop

tay  What is Computer 7 Give conilyur

compuler.

(by  What is software 7 Distinguish betwess application

soltware ond Uty seflware,

(¢)  Compare stan. mesh and tree wopok

computer HetVorhs,

(dy  What are characteristics of reat time applications.

s

(©)  What is apen souice soltware 7 How is 1t different

from proprictary software
famfaige & @ d4y o e .

7 7 FEGI F

"

(2-7801) T-12504(1 1) P.T.0.
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QAR R Sy
IRz Dl A ol i Ll

(7)) T 4F% H wed =R, 79 ok @ It =5

s w97 sen i Breead s ¥ 7

(2) A9 O 9 30 2 7 WuEed divee T | U

o o

. ®Gg S o8 7

()

What are Input devices ? Explain the working of mouse.
kevboard and touch pad. 15
F1 TR HfET |

What is Hard Disk ? How m:.ﬂdam:o: 1s organized on
hard disk 7 Explain in deail. 15
T 7 7 famEn

What is Operating System ? Compare the characteristics
of android and 108 uscd in mobile phones. 15
fen #9187 "Hgd wH H yge UIRE SN
AR -ALTE T YT HE g ity |

Explain the evolution of programming languages through
various generations. 15
fafvm difedl & merg @ W swe € fawm #
FAEAT HIST | _

L-12504(TR) . 2

6.

Explain the following features of word processors

word count, footnote, mail merge, table of content, wrap
text. 15
VSR MU, GadAlz, B W, 9 % ater, Yoo

Explain the following features of Excel :

Pivot Table, Auto Filter, Repeat Headings on each page,
Formula and Macro. 15

What is Computer Network ? Explain LAN, MAN, PAN
and WAN in detail. 15
FEHR TIF: T E ? oM, W, 9 ok 3 # Pream d
FIEA |

What 1s DBMS ? How can you create table, update table,
gencrate query, delete tuple in any DBMS you Frow ?
Explain with examples, 1S
SATHLE TR 2 A e Y I T §, dew
sz, W v B w7 3, e ) ST § oo
F1 B FI § R o9 IR ¥, STl @ W T |

(2-78/2) 1.-12504(TR) - 3 11,600
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BCE/D-18 12505
BUSINESS MATHEMATICS-I
BC-105
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory,
FF U W @ Tee Afw v wem 1 siad

1. (a) The sum of three numbers in A.P. is 9 and the sum

of their squares is 35. Find the numbers. 4
AP, n%ﬁgﬁﬂﬁowﬁiqﬂiﬂ
g 385 2 ) wErd wm @i

(b) Differentiate (x)°8> with recpact o x. 4
X ® WO ()eer ¥ @R e

(c) Solve for x : 4

log(d4x -3} =tlog{x+ 1) +ieg3
x & fau @ wiag
mom@wamvn_omﬁif_._ﬁmw

(d) Find the value of x, 3, z, if - 4

/
2x+y  x-—-y q (10 -1
X=I X+y+z] ﬁfm ;

X, ¥,z T OWE FRE wmivm i

2x+y x v ._fﬁc |_,_
X-z .a._zw_+uxl/u mn_

(3-46/8) 1 ~12505TR) PEO.



2. (a

(b)

Rekha bought a _,.awlmﬁmﬂoﬂ tor T 9.200 on credit,
The rate of mEm.Emﬁ for the first year is 3% and for
the second <om.~ is 15%. How much will it cost her
if she pays the amount afier two years 4
w@aﬁ@ﬂgwoonﬂﬁﬂﬂﬂ%;ﬁ
ﬂ%ﬂmﬁaﬂ%\c WA F fay e
TIS% B ) ogf mE 2 T AR T s e

w.aﬁgﬂﬂﬂiv

“=4%, show that - 7Y

11 )
Homa@n&u.« I+!+.ig.

Yoz ow
@ Tafew R

_oma@nﬁJHH .|H-+|H;+rW
Mozow

i at=pY =7 =",

Evaluate the following using log tables - TV

(3.142)" (0.078)""?
V7] (0.078) -
(0.005)"4

Wﬂ.@%@mﬁdﬂﬁmﬂ %wﬁﬁ%u&dﬂd

(3.142) (0.078)"/3
A2 72 0078y
(0.005)""4

L-12505(TR) 2

>

(a)

(b)

(a)

(b)

(a)

(3-46/9) 1-12505(TR) 3

It the 12th term of an AP is -13 and the sum of
the first four rrms is 24, what s the sum of the
first 10 termy 9 7V
AP F 128 97 g5 S AW TR AR 93w
T 24, T gem 10w 1 o a2 & 5

Sum the following series 1o » terms - 7Y

5 dy
B y=(? 1122525 : find ot 7%

KI5 %nmxwivmz\mxlm m“r T R ﬁ,:w_z/ _

x?

Differentiate 5 WL x2 7Y

I+x

2

x2 & Wy 7 B e wifsw

Determine the local maximum and local minimum

values for the function . X =3x? gy 7. L7
FAT x33x2 gy ® 10 I sifigeg e
A REAE w i iy

P.T.0.



(b)

(1)

Given  the  demand  function of a product

56 _ . .
£=—-+12 where pis the price and x is the
X =D
quantity. Find the maximum revenue. 7%
. . 36 -
TH SER F AW CFAT nnalumi., fZar T
x-3

.

I B I O O S S—
Fa FifSu

I'rove that : v
la+x =
2 .
ﬁ X o+ » oy = D.IA.Q + x4+ \J_.\.+ Nv
X ¥ Q.Tum
fog =feu fF .
__Q + X ¥ z
¥
ﬁ A ) a+z

Express the following matrix as sum of a symmetric

and skew-symmetric matrix : 7%
(4 2 -
|
{3 5 7
f -2 1

L-12505(TR) 4

fefetfian seoqz = s@fefy % 9 @gr faume
Al oo ® w9 F yafim @i .

4 2 -1
3 5 7
1 -2 1
7. (a) Solve the following system of equations by matrix
method : Y4
xX—y-z=1]
X +ty+z=2
x — 2yp vz=4
Herw fafu g Fefafer quaet @ fem e
FifsT
X—y-—-z=1
x +y+z=2
Xx—2y+z=4
(b) Show that A= |Nm M satisfy the equations
x% +4x—42=0 and hence find A-l, TV
i & A= |Nm M HHIHT x?+4x-42=0
# T F@ R AN Al Aw wfNw |

(3-46/10)L-12505(TR) 5 P.T.O.



(a)

(b)

(2)

A sum of money invested ut compound interest
amounts to ¥ 2,200 in ong year and to T 2,662
in three years. Find the principal and the rate
per cent. : 7%
FE v WE I9 & fem 72200 wem 9 w9 #
fow 2,662 % =wgfe <am W fafea faar mn )
b L0k MG 2 R IS G Ol i

A machine depreciates at the rate of 10% of its
value at the beginning of an year. The machine was
purchased for ¥ 10.000 and the scrap value realized
when sold was T 3,855. Find, how many vears the
machine was used for ? 7%
W WE ad ® T AW gel & 10% &
@R W W ® 1 meA W T 10,000 H W W
A W9 q= T d9 el gew ¥ 3.855 AT
W w fE e o owEm e e fen
KT I

Find the amount of an ordinary annuity of ¥ 500
payable at the end of each year for 7 years at 7%
per year compounded annually, 7
7 76 & fou ufa o % o H 7% wfa o =wafs
Fffr ®t W W T 500 H AT Afi=w @ i
EIGERE IS

I-12505(TR) 6

{b)

What 1s the present value at 6% ﬁQ., annum
compounded semi-annually, of an unnuity due of
< 1,400 payable semi-annually for 12 vears 7 7%
12 =6 % o T 1400 39 FF FmEn A w1
6% 9T 74 T W ¥ Adiw Twgls = g oweEr
FA A T FT wdEm oqew w7

(3-46/1N -12505(TR) 7 13,300
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Time : Threc Hours]

Total Pages : 02

BCE/D-18 12506
BUSINESS COMMUNICATION
BC-106

[Maximum Marks : 80

Note : Q. No. | is compulsory. Altempt any four questions

(2-46/5) 1-12506

from the remaining eight questions. o g
o dem | fad & | vm o oy § ¥ %R |9R
99 HIAC |

Compulsory Question ( &fard we)

Write short notes on the following :

{a) Grapevine (b} Positive attitude
(¢) Proxemics (dy Para language
(¢) Video Conferencing. .

Frefafea — wfya fewfrr fafag .

(3) Y= [HER (9) TFENHF TR
(q) wHieA W (3) Twd e

(7) Afzm FwfET

UnitI (313 1)

What is meant by Business Communication ? Discuss

any best theory of Communication. . 15
Smta® HOr ¥ ¢ ? §un & e uw 9w fasm w5

ol Fifaw |

4x5=20

P.T.0.

What are thc advantages. and disadvantages of Visual
aids 7 15
g worw A F ey sl owmy owm Y )

“Your vorce is trade mark.” Comment, 15

AT A TR TIH # (" R W

Write a %B:nm_ note on various modern forms of

Communication. 15

FIR % fafi sy w9 W o frg feomh ffem |

What are the factors which will determine effective oral
listening and written listening © 15
I OERE F AN H Ty W oywEge dfes g9 g
foafea saw #t fauffg =@ & 2

What is Memorandum ? Discuss various types of
memorandum with the help of examples. 15
WERvEH 2 7 Sl # W § dukvem @ Py
JEG w1 e e |

Discuss the process of appearing for an interview. 15

Th WEER W 27 F Ew W |

Discuss the guidelines for the working of e-Mail and e-
Mail etiquetie. | 15
09 3R $-9e Rrerar ® w1 w0 3 B 9 s
FifaT |

L-12506 | 2 11,000
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BCE/D-18 12517
COMPUTER APPLICATION
BC(VOCQC)-105
Computer Fundamental and Logical
Organization

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
FE Gt ¥ ® T G+ ww gen 1 siard
2

1. (a) Differentiate between primary storage and secondary
storage.
T @RS v dwved @i F R W |
{(b) What are non-impact printers ?
AA-giae fizd e & 2
(¢} Explain four Address instruction format.
IR TR TERA G # avi @ifge |
(d) Define linkers and loaders.
fawed qen wiied % sfonfa =ifm
()  What are the hardware required for networking ?
5x4=20
e & foe eddw w own owed ¥ 2

(2-149) L-12517(TR) PEO.



L-12517(TR)

What is a computer ? Explain the compnents of computers
using block diagram. 15
IR € ? WU @GR He & 9w g
FINT |

What do you mean by memory system 7 Explain different

types of memories ? Explain memory hierarchy in detail.
15

g@ﬁnﬂ%ﬁﬂﬂmwwgﬂ,mﬁﬁﬁ&
ﬁmﬁﬂﬁﬂhggﬁﬁﬁm&mﬁ@ﬁ?ﬂ_

(a)  Write in detail about Error Detection and Correction

codes. 3

I F TAW TN qN QYR we F W) § Famr
q fafan |

(b)  Design the haif adder using oniy NAND gates. 7
HAA NAND gates & v9m = aw TZT T

Write short notes on the tollowing . RIS
{a)  Demuitiplexor {h)  Shift reguiers.
f=fafem o whera feofrat gmm :

(7)) fe-w=roman (F) Wre deer |

What is Register ? Lxplain shift left and shifi right
registers in detail. 5
Tt ¥ 7 i dw go RTR e dusd =)
o B osnEm e

[

T Dxplain DAA interface unit Whe are the conpoments of
DMA. B
DMA 32088 912 #f =mem w370 1 Dy, 3 o 3
Z 7

8. Explain in Jetail. ubjective and functions of ar Cperanng
gvstein. DUterentizte hoovven sigie user ard roaliiuser
operating svstem. i85
R Fre % Seen A o W A S (L
TAC AW TR R smfe finan W owm aage

Y What is word procossor ¢ What are the features i werd
processor ? 18
E TR 9§ 7 TOE T ¥ o7

(2-1410) L1251 7(TR) 3 1,400
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BCE/D-18 12518
BUSINESS DATA PROCESSING AND PC
SOFTWARE-I
BC-106
Computer Application

Time : Three Hours] [Maximum Marks : 80

Note :  Attempt Five questions in all. Q. No. 1 is compulsory.
aft Ui WA % S G | W wew 1 efEe
7

1. (a) Define information and write four characteristics of
Information.
I & 9w @ 9 et =8 = faeivand
fofaa o
(b)  Define file, record, ficld and primary key.
Fd, RS, wee @ wewd #S # gfmw
difs |

(c)  What is spell checker in word ? Discuss its role.

- ' I

72 Wor Yl W ¥ 7 THE T 9anu |
(d)  Differentiate move and copy in excel using example.

R E WEET F kixeel B Move @9 Copy H
{c)  Dedtne noact s weod By wort | 3.-5=20

TE 0 W Meers A wfoamr i

(32 1 13SIR(TR; ET.O.



2. Define Data, Information and different them. Explain
impact of Data Processing on Business. 15
ST, AT T IR AT qen T s v i
ST W T FEfET ® gum e auig =ity

3. Dcfine file, types of file. Explain Index-Sequential File
Organization. 15
RRELUIC I 0 B O o e 1 B i 1 e oo
Hiedfquer wee sigse # se wifT

4. Explain Mail-Merge in context of MS-Word. 15
MS-Word % Ha4 ¥ Mail-Merge &1 a0 & |

5. In context of MS-Word, explain : 15
(a) Table Handling in Word
(b) Word-Art and Clip-Art
ic)  Save and Print.

MS-Word % #Haw ¥ f %1 ool wifme .
(1) Word ¥ &m a=

(&) Word-art 791 Clip-Art

(W) Save UH Print.

6. Define Cell, Range in Excel. Explain  any five
mathematical or statistical functions in excel with
example. 15
wﬂﬁuﬁmﬁﬂﬂ.n@&ﬁ&%_mﬂﬂaﬁ?
mﬁmm%,%ﬂﬁﬂ%@%&mﬁiﬂ%ﬂ?f

L-12518(TR) 3

7. (av  Explain charts ased in exceel, Prepare a chart using
example. [}
TR ® G S WA 9O | IREI R oym o
TE JIR FhAw |
(b)  Discus: Macros in Excel. 5
TR 4 Macro F a0 FifEw )

8. Discuss using Excel ; I3
{a} Sorting
(b)  Use of IF statement
(¢ Use of formuia in Excel.
T F WEN W w sl wifae
(3i) W&
(F) IF Wzdz 1 w5m

e

(W) @A 4 @ & w@m |

L)
L8]

9. Write notes on the following :
{(a) Data Validation and Verification
(b)  Direct file organization
fc) RDBMS Software.
effas o feafrf fafea |
(31) TR FuT A wEH

(¥) TEER FEH {
(1) RDBMS Thwagr |

-

(3-12/2) 1-12518(TR) 3 1,300
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Uxplain the folicwing characteristies of window
Dperaung sysiem

(iy  Muhitasking (Pre-emptive)

(i Advanced GUI (yraphical web interface)
{iiy Powerful help Tacility. 4x3

iqrers i fawrm @) T fovmaed &) o

(fg-zmafe=)
GUI (TES™ I TEUEY)

X A MCEH

Defiae o resl ime on line operating system with
fzw apnlication areas. 5
anm e fawed o @ W @ EHD SR
B g ' W

.m..h.wkum..; the difference betvwzen single user and a
0

iy faen ¥ oaar o

[

maltinner operaling sVSIR
T T R ﬁl&n«tﬂ% a7
FifeT

Gmﬁ.._ 1w overy vial for ans ::n._nrfw activity. Ioio

iy . data is obraiuer i oanv business activity ?
Jescrbe any fwo methods of data colleciion. 15
__mm,_.b_ AT J_ATF & FmoEm odw oy
we ¥ 7 ovm o & S @ fabi wm avR

2 TIMY 4 4060

RoOIl N coereeiecccicirnnnanea Total "ages : 04

BCE/D-18 12519
COMPUTER FUNDAMENTALS AND
BUSINESS DATA PROCESSISNG
OMSP-BC(VOC.)-105

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
wel utg weA @ IW Afee 1w dew 1 e
2

Compulsory Question { 3fard wvT )

1. (a) What are ROM and RAM memories of a computer

system and also write their function ?
Foager fgeR #1 ROM @ RAM = =1 €
u TR e o fafag

(b) Convert (17.25),, into binary and back to decimal
number.
(17.25),, 1 e & qo <wwe™ WeA H Wi |

(¢} Define a multiprogramming operating system with
an example.
TH: I G
vfeafim FifsT

smifen fawm =

(2147, [-12519(FR) PT.C.



(d)

(e)

(b)

(b)

What is a machine language ? Write two advantages

and two disadvantages of machine language.

n

qYiE AT F O§ 7 T W oI den g siar
fafem

List the names of different components on the
desktop of windows operating system. 4x5
faver sifqifen fawr & dwefn w fafe= Wi
% T fafew | |

Explain the working of ALU and control unit of a
computer systerm by drawing a block diagramme. 8
TF WUE @ WiEd qW RER fEeH # ALU
T FOIA G H FE F AOH WY

Write some limitations of computer systems. 7

FgR fawd &t 5 9wl fafae o

Elaborate the difference between a touch screen
monitors and a simpie monitor. 5
T9 BRI A T9T TYRT WA W IdRR 995 |
What are Optical Memories (CDs/DVDs) ? Describe
data recording in CD's and its advantages. 10
sddm TS (CDs/LVDs) 1 & 2 €D ¥ 2=
fepifen aen s @i w1 |viT eifam

4. ~Elaborate the following components of windows operating

system :

{a}

()

Control Panel (b} Recyclebin

My Computer. 5x3

1-12519(TR) : 2

L .

HHARRT -
(3) Fudd TR
(") W FrEgE |

= & frefafaa saa = faar 9

(a) FuRsaia

In windows operating system, explain two methods for
each function : _

(a) to create a file and a folder

(b} to rename a file and a folder

(c) to move a file and a folder 5x3
favg srfen foem o wolw s = fe BRE =
SITEAT m._i,m_.m :

(F) UF FEA 9 TH Besl TR F fag

(7)) T FEA W WF Best & 6w & faw

(9) & WEa 791 Uk Biee 99 &@ $ faw |

Perform the following addition and subtraction in binary
numbered (two complements) of 47 and 27 ie. :

(@) 47427 (b) 47-27

{c)y —47+27 (d) —47-27 3444
47 9 27 ® WA T () @) ¥ feafaften A
da1 HTE FI WG :
() 47+27

([) -47+27

(F) 47-27
(T) -47-27

() How an operating system acts as an interface
between hardware and user ? 3
BEAW YN TN F A UF TGE ® ®7 A
A fa=m #8 wd ww@ £ 2

(2-14/8) L-12519(TR) 3 PT.O.



7. Define Topology. Why is it needed ? Discuss various
network topologies with their merits and demerits. 15
Jaresht # ofeam S | sea smavama s o
i Jeaw 2delsh ®1 ok TR TN wen sl @
e wifay |

8. (a) Discuss in detail about the guided media used in

computer networks. 8

FOR Feh § vgw Mee difew @ famm G
EAIE A

(b) Define the concept of Internet. Discuss in brief
about the hostorical evolution of Internet. 7
TG 1 SFUROT ¥ o iR | sede w
tfferfasd fawm & sr o == Fifag

9. Write short notes on the following :

(@) WWwWWw 5
(b) e-Mail. 5
(¢) Search Engine. 5
Frefafen W oafyw foafired fafeg -
(37) WWWwW
(1) 9w
(7)) wd 5@

L-12520(3R) 4 400

Roll No. ..eervcenrrrrecnnee.. _ Total Pages : 04
BCE/D-18 12520
INTRODUCTION TO COMPUTER
APPLICATIONS
BC(Voc)-106
OMSP

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
Attempt any four questions out of remaining eight
questions,

W A W & W AT | v wew 1 sifvard
? 199 3 W W ¥ e wm e @ sw A g

L. Answer the following questions in brief - $%4=20
(a) What do you mean by Arithmetic Logic Unit
(ALU) ? Explain.
(b) What do you mean by utility software ?
(¢)  Explain any four applicaticns of search engines.
(d) Differentiate real time operating system and time
sharing operating system.

(¢}  What is FTTPS ? Explain.

(3-12/7) L-12520({TR) P.T.O.



frefafad e & T gag o Sfem .

(30) sferdifew oS gfe (ALU) 9 o9 w1 ousd
7 =l wifaw |

(F) fefert dfRam & o e W ¥ 2

(®) W T B wWw s w ah Wt

(%) faer oem oifqifen fowew wen o9 wafm s
Eﬂﬂ&ﬁﬂﬁﬂ%ﬂ.

(3) HTTPS ¥ % ? =i =if g

What is computer and explain the working of its
components with the help of block diagram. Also discuss
the main characteristics of computer. 15
FEGR TN ¥ 2 wE Smm w wgEd § TR w9
FHl #1 o T | T F vy ftwrsd w Al
Fifag |

() What are output devices ? Explain in detail about
any fwo commonly used output devices. 8
e feads = ¥ 2 wmw w9 @ R @
ssTge feardl #t faw@m w9 ¥ =arem A
(b) Explain in detail about the role of programming

languages in computer. 7

FR i ww w qfte 91 fymm @
e Fw

L-12520(TR) 2

(a} What mm Software ? Differentiate between system
software and application software. 8
GHE F ? ? foen Oiwdwm aen TP
HrEam § SR T Fifen |

(b}  What is Operating System ? Write down the varinus
functions of an operating system. 7
Sifen faww w1 & 7 i frew @ fafr
-1 w1 fafag

How open source software is useful in today’s era ?

Explain in detail about the principle and historical

evolution of open source software, 15

FoFEA T H A Od wiedm B swanh & o

A W WA B oo aw efes fwm @ T

¥ frar 9w sifag |

(a) What is a Spread Sheet ? Discuss its basic
structure, 7
wevite F ¥ ? @R wawy ooaw @ e
IS |

(b) What do you mean by word processor ? Write key

applications of words processor. 8
aS TRW § A9 w7 v § 2 3¢ YW v
yam fafag |

(3-12/8) L-12520(TR) 3 P.T.O.
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BCE/D-18 12521
LIFE INSURANCE-I
PPI BC(Voc)-105

Time : Three Hours) [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
Tt ufe geR % IW e | v wen 1 afEd
T

1. (a) Statc the relationship between insurance and

economic development.
o dwn ot faww o Hey wasy |

(b} What are the factors governing sum assured ?
dm ofe &t fEfn s o s ow= § 2

(¢) Differentiate between nomination and assignment.
TEETT qq YEW A TRR TR |

(d) What do you mean by proposal and application
form ?
TEE 9Y7 STEEA WH § R 9aRy |

(e) State the present position and growth of insurance

in India. 4x5=20
wrd H S W ghg den wdmm feafa w1 aol
T |

(3-13/3) L-12521(TR) . P.T.O,



“Whole life plan is basically term assurance plan.” Give
your corment. .15
i e gEEw @ sy omersd A oo
ao aF AT

State and explain the elements of e insurance
premium, : 15

Sgm ann T ® el w6 sen wifse |

Explain with examples the broad cub-divisions of sub-
st 1 1isks and also iheir treatment. 15

O W WY IOEEE WrEs F O|E IHEE T
gk LuvTn @ IR OH gea wifEe |

“On the whole, the central motive of insurance is o

i

provide security.” Do jou agree or not (Give your
comments. 15
Ygi e | A @S SKeRE WA WA F 2"

F7 aMg WENT ¢ 1 AR 2 oW ww I

Fxplain and illustrate the scope of life insurance in
aetail. 15
o w89 % Ieew gfed fawr | e #f

L-12521(TR) 2

Critically examine the various principles of I
insurance. 15

Hae a2 fafirsr fogrdl w1 SeliEEe s TaEe =TT

What are the various methods of colculating e "momic
risk in life insurance proposal 7 15
He A v ¥ enfie Afew st T W fEees
fafuel om € 2

Explain the nature, need and functions of insurance. 13

T w YR, EvIEAl qU HE H AU HIS

(3-13/4} L-12521(TR) 3 350



RO NO. coreervevtieirnereiiinns Total Pages : 03

BCE/D-18 12522
GENERAL INSURANCE-I
BC-106
PPl
Time : Three Hours) [Maximum Marks : 80

Note : Q. No. 1 is compulsory and each part of it carries 4
marks. Attempt four questions out of the remaining
questions carrying 15 marks each.

W He 1 At ofaod W am 4 s w
Taoos our 4 W fesl wm oW ® TR i)
TE W 15 ¥E W P

1. Write down 1-2 pages notes on each of the following :
(a) Scope of general insurance
(b) Social insurance
(¢) Reinsurance
(d) Refund of premium
{e) Endorsements.
frfafer § § 7oF W 12 o9 ¥ fowfiet fafa -
() W dm ow A |
(9) W s

(3-1311) L-12522(TR; P.T.O.



mﬁﬁ ,.# Mﬂm‘.ﬂﬁ
(z) #= |

Explain the significance awd principles of  genoral
IMSUrance.

~

T st g TRed 2o g wogei wmiBn

Discyoss the esseriial features o Flee Iusmianes Policisr
and Marine lmsurmce Policies, Alse Jusorine meaning
and feur wes of Yersonal lusurance.

aifry vy sfifadl g A Ay ERE v P
7 ol sfay ) SufRmE T e wed o favimne m
5wl st

What type ol poiicies are uscd unidar Mtolur hosurande |
Elaborate the fuli proceduse for otaivny ihers policies,
e e B ot FR-geed A s W w8
31 Afdl w1 oyE FR R G TR G W

Explain the procedure of settlemert of claims urvler manse
insurance. How 18 the axtent of Habilivy deicanrmed o)
the insurer 7

T A % edn T W o e whEw w8 e
AfAG | doMTE ® g atoe W odsn % R feifa

fruy AT E 7

L-12522(TR) 2

&,

Who can insurc a general insurince policy 7 Lixplain da

document reawired for generat invirance.

T TaEg d ORE BT W TRl om0l F 0 W

g ow fen YTRE TR #1 avid Rl g

~

Elaborate verious scheiney avatlable for soels! st i
india wrh sheir merits und demerits. Also explain so0id!
insurse {or agnculare sector.

WHETE Wer @ Ay 3w Al el & Wen v
FuF Frny o R wq AW g wl € Y

Write short netes on the foltowing -

ia)  Swrender value of pon-life policy
(hy  Uinderwriting of insurace

(¢) Insurance marketing.

frefefen w wline fewfora fofen .
() m-dem Aif & ' Gen
() R FEHEG

(@) o faguE

What do vou know abow suucture and operation of
genera! insurance in india 7 Fxplain nomicatn,
assignment and terminaiion procedars in general mnsurance.
qRE W WERn @ E W o Jeed ® A 0 s
F oW ¥ 2 wro s A A, Wi 6O weie
WA w1 W

(3-13/2) 1.-12522(TR) 3 350
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BCE/D-18 12523

MARKETING COMMUNICATION-]
ASPSM—BC-105(Voc.)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all, Q. No. 1 is compulsory.
A o T B IR AR | w g Hfard
2

1. Answer the following in brief :

(a) What is Marketing Communication Mix ? 4

(b) What is _Emmaﬂoa. Marketing Communication
(IMC) 7 _ 4

(c) What do you mean by Oral Communication ? 4

(d) " Define Defensive Advertising. 4

(¢) What is Personal-Selling ? 4

frafafes & dha sw At .

(1) Fwor wa9R wfgy aw & )

(F) uHlFa fawm darx = & 7

(W) Hifas gar 7= & 2

(%) dwmers faam & wfonim sifa

(¥ Hfww-frra 7 ¢ 2

(2-06/6) 112523 PT.O.



2. What 18 Communication ? Explain the nature of

COMIMunication. 15

TR O w5 € 7 War e WHfq & avie wifew

3.  What are the basic forms of communication ? Explain.
15
w=m & fafi wer @ € 2 wmmd |

4. Discuss the process of communication. Explain its role in
developing effective marketing communication, 15
WaR & WRar S N $ifge | f99oE WER ) yEEt
TR A TR W afre ® 2

5. Explamn the emerging trends in marketing communication.
15
- H9R % 3Wd TM B SNEd wiag |

6. Discuss the economic aspects of Marketing
Communication. 15

famor d=R & fafe= afle geqed @ avi Wit

7. Is advertising justified ? Explain. i5

¥ fage =mmfag € 2 =rem 9ifm

8. Discuss the Legal aspects of Marketing communication. 158

fagm war ® Awfw wweed & avlh wif

9. “Advertisers are discharging thoir socizl responsihility
to-vards society.” Do wou agree ? Explsin in dewil. 15
“fasmadal TR @ ufa Has vawime = el g e

n e
PR

g " wmoaRT @ged € ? wamEn o

1-12523 2 Hp)
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BCE/D-18 12524
FUNDAMENTALS OF ADVERTISING
ASPSM BC(Voc)106

Time : Three Hours] [Maximum Marks : 80

Note : Q. No. 1 is compulsory. Besides it, attempt four
questions from the remaining eight questions carrying
15 marks cach.
T HE 1 HEd ® | e s 99 e e
¥ ¥ 5= 9r v % I AT | TeE we #

e

15 3% ¥

(Compulsory Question)
( fard uy)

1. Answer to following questions should not be more than
one page : 5x4=20
(a) What is Advertising ?
(b) Mention limitations of advertising.
(¢) What is Primary Demand ?
(d) Mention features of DAGMAR approach.
(e) Discuss competitive parity method of advertising

budget.
(3-78/8) L-12524(TR) P.T.O.



2. Explain the role of advertising in national economy of
developing economies the India. 15
wra Sl fowaeier sefrmen 3 fou T stsdormeen §
e =t sffae w1 w7 Fifaw
3. Bring out the rolc of advertising in modern marketing
wherein technology is playing an importance role. 15 -
i foao F famrm &1 ufter 1 ool eifwe | o
SrenfeRt Hewrgt sife fem @ 8 0
4. Critically examine the following : 15
(@) Commercial and non-commercial advertising
(b) Factors affecting choice of a particular types of
advertising.

frafafas w gfem #ifag .

(31) HaE qw 99 FiEfEma e

(F) fag\ & fowiw yo7 % =1 & woEd w59 99
GHE |

5. Write a detailed note on DAGMAR approach stating the
challenges involved in it also. 15
DAGMAR 3omm & ffea wHifat 0 fagg =2 foifige |

L-12524(TR) 2

__ T9 & S UF 19 & 7= @9 =iy .
(&7) fogm= =1 & 2

(8) fomm = el = seerm wifm

(T) wufts ©hr @ ® 7

() DAGMAR @M =&} fasisaqieli =1 seorm Fifyo |
(3) Eﬂﬂmﬂmﬂ%ﬁﬂ@?ﬂmﬁ%@f

Explain importance of advertising. objectives. Ixpian

the sales school of throught to selling advertising

i

objectives. i
fR, ssval #1 95w wew | famme EEEto
ﬁmﬁﬂﬁﬂﬁﬁﬂﬂgﬂﬂﬁﬂia_

Explain the meaning. importance and process of preparing

advertising budget. s

fom sz 9 &6 #1 e, weem wen wgfa & ania
\Jm 3 _

Explain the various factors that can influcnce the size of
advertising budget of a firm. 1S
37 fafa= sl @1 9 wifwe st w5 g S
SR H GHET BT HFG T 7

Discuss the merits and demerits of different methods o
cstablishing the adverting budger. 15
fagmmm a9 &t w7 fafus fahei o+ ey
T HT AV EIfHT

(3-78/9) 1-12524(TR) 3 i



el )

L

3
i - - .
. - S -
8. What ix Keoed T T e -2 s Toatured ) et e e
How does it dirter NSO Papendiiure Aeo om0 T K R
m..m _v —-=. =" = T -
. H -
= q - - <
:5;.3% : = Tm SLTTE RO
= Y
ot Venture apa S e R : )
Account — T A

. .
. _
L ; _




;. <UL vou mean by Acuou i | I R
need ™7 Give a bric) outline Gl Mesoltitie ) _ R S N R
Standard, b3 )
TEET BAE T TED o b e ETE | - TN .
T NER T a6 |
4. There was a difterence ol ¥ 4030 in the gl balance. it ;: :

has been transferred 1w dehi stde 10 suspense account.

Later on the following errors

3,
i

were discovered. Pass (he

rectifving entries and prepare susperse

GGt

(1) Total of sales return book was overenst by T 1750,

() A credit amount of 7 SO0 was omilted 1o be recorded
in personal account,

1Y An amount of 7 2.050 has  been debited 1o -

AT AT BT BRSSP
CUIMESSIOn account as ¥ 3.230, _
wis recorded in the e T L
pills recervable bhact _ R Tty -
/___.mﬁ.u. — = - "
D - _ .
N B E .
-...r...” ... /. Jl)m’\‘; , . N .“. = ...
2 _ S
N LR VoA ’
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BUSINESS CCMMUNICATION SKILLS

vima - Three Hours) Ivaximum Marks 80
et o (L NooUis compuisory. Atlerapt any fowr questions

from the remaining cight questions. All quest.ons carry
2guai marks

7o wn | oaftard 2w e W W 9 w0 owr
TR Hmi | adt v # s owam ¥

i.  Short notes {compulsory question! :
(a)  Types of Audience
(b Grapevine Communication
tci Group Discussion
(dr SWOT ._x:m_v.m?
{¢ci Deline resume.
o IWE YT (AR wvE) .
(3) 4| % "R
() W @ HAR
(3 Aqmgte T -faot

(T3 13vETm

. - o
[ TR T OUTT

&



SUe

e

.-



Rolb No. e Total Pages : 03

OBCE/D-18 12527
MICRO ECONOMICS
BC-103
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
wA UG Y F S0 A9fAU | v gew 1 oatEd
CE

Compulsory Question ( 3tfamd 9y )

1. (a) Define the scope of Macro-economics.

TRfE-aUerE 47 & ufewiga wifwg

(b)  Why does demand curve slope downward ?
U wE H AN A @l T w B € 2

(c) Uam.zc the demand curve with the help of diminishing
marginal utility.
Ul "HErd STEf w Weddar @ B ww %
T | TR

{(d) Show that relation between total utility and marginal

 utility.

FTA IWE AR dimrg IEfE % wEy #H
EGIELa

(2-46/14)] -12527 P.T.O.



| %

vt Daplaln the erms Muwvina!l phvscal productivity,
Marginal  Kevenve  producuvay and  Value of
marginal physical piodacuvity. 5x4=10
ST TR TRRERL ETIE s0E  SaEed R
frra fEE S@TEA ¥ gFd WAl H A @A |

Wihat i Price Elasticity ot Demand 7 How will you

T

mesure price clasticity of demand 7 +12
i ¥ A WG S 2 7 A S #09 ad W Y E9

T A

Fxplain the income effect, price effect and substitution

¥ ]

effect with the help of indifference curve. 1

TowE EF W SEEd @ W WA, wHd 99 HR
TiFTeNYY Y9 i g e |

What is meant by Return to scale 7 Explain its various
phases. 3+12
e % wEEd & oF @ ® 7 W & vfawd & e
qrquleraena Wi afvig wIfse |

What are the assumptions of Law of Supply ? Distinguish

between contraction of supply and decrease in supply

with the help of Jdiagram. 6+9
ol & o o Etad ® GERAl 9 TAE |
527 2

2

What is the relationship butween Average vost and

Marcinal Cost 7 Why s the long tun average cost ctuve

also called envelope curve 7 8+7

S A S S A 8 e €7 ST
A WA ds #] TwTE AF ol FE He g 0

What are the main tfeatures of Pertect Competihon 7
Write down the conditions of firm's equilibrium under
perfect competition. 5+10
ot whef % ges Yavwed @ € 7 ol it @
wattd FH & e & v w a9 |

Explain the price and output determination under
monepolistic competition in detail. 5+10
TR fafTa & ol wma ok IareH F sk
%l foagEs =Rl Bt |

Criticallv evaluate the Keynes liquidity preference theory

of Interest. 15

Fe F AN qed AR fegr w1 AaEARE e

Eqise

(2-46/15}1.-12527 3 4,366
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OBCE/D-18 12528
PRINCIPLES OF MANAGEMENT
BC-104
Time : Three Hours]j | [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
Answer to cach sub-question of Question No. 1 should
be more than one page.

e U Y F AT AT | 9eE geE 1 et

i

T Y FEE ] OB YO I9-9E I UE IO

7% difgd fEm |
I. Explain the following in brief : 4+4+4+4+4
(1) Policy (i) Forccasting

(iii) Virtual Organization

(iv)  The North America Free Trade Agreement

fvy  Utility of Standards as tools of Planning and Centrol.

coatatEg w HaEw 0 wEEEe

() ifa (i) gArTAr

(i) ofrarel e

(iv) S® SHfH &1 999 AR HEHW

(vy Traem g fsm F weel (9EN) e ST
e 39 |

(2-56/3) L-12528 P.T.O,



2.

“Management 1s the driving force that inspires an
undertaking, knits it into an entity and creates the
conditions and relationship which bring about a full use
of its powers and resources.” Discuss this statement in
light of modern concept of management. 15
‘e wwm W viE 3 9fF T IuER % wd % fou
i@ w2, 3 T T B w9 F wfm w6 E, s
ot gometf @ ..:ﬁmﬂﬂ%w&mﬁ%ﬁﬁﬁﬁmﬂ
9 wisE &1 g0 IWm F98 TR | :ﬁﬁ%%mﬂﬂ
ﬁmﬂéﬂﬁﬂﬁmﬁ&fﬁ_}mi%_

What do vou understand by staffing of managerial
personnel ? Qro should bear responsibility of staffing in
an organization ? Discuss importance of staffire in a big
business concern. 44,37
s Rifyefa’ ®F fafEm 9 s @@ sfagm 7 0
fwdl W | wEy WiEiE wt fafa favgs sarifas
58 981 &1 =fen ? T JEg =Ewas 75 o fgfaat

® e # fadwa Fifw |

What do you understand by functional centralization of
an organization ? Explain need and significance of

functional centralization. 6,9

g # fEuee SSigEt § W ¥ Toe © 2

foraTHs HagF I FHi &_%?n_ T HE 99EsT

L-12528 2

5.

1

Explain principles of perscrr | motivation and describe
the motivational procedure © gquired for a concern. 7.5,7.5
i afamen & wa@ e Tomn o SR s
AWIOT Tgfa = aviR ®ifsg

L..l

Point out a few symptoms that would indicate a faulty
control system. What factors should be kept in mind in
appraisal of control structure of an organization ? 7.5,7.5
R VIECE I rn i e e Te e s o e B

? e g =t freaw T $ gl § s 2
A H e e 2

What do you mean by leadership ? Decscribe some
common failings to be avoided if one is to be an effective
leader, 7.5,7.5
T8 8 o F; oad € 2 39 gEeael @ ol
Fife, 999 e wwewmEt T w9 % g R®OwA
=1feq ?

“Decision making is primary task of manager.” Discuss
and explain the process of scientific decision making. 6,9
“froia yeuw @ wufhe @R § " T@ ®eR S O
HIfQ den S oA i Tmemeu

What do you understand by Globalization ? Explain impact
of globalization on Atiitude of managers in India. 7.5,7.5

Avelletor § 9w F1 AR € 7 SvdleTor w1 9N H
TR F AP W IIE AHARY

(2-56/4) 1.-12528 3 1,550
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Raoll o, ﬂAQIUUw\Qm Total THages : ON
OBCE/D-18 12526
BUSINESS MATHENMATTIOS-
BC-105

Fime o L hree Hours| [Maximum Marks 1 80

Note ; Attempt {ve questions in all. Q. No. 1 1s compualsory.

HA urE AT R I | W HEm | wiqaE
T

(Compulsory Question) ( G IECIG IR

1. Attempt all the following

- ___._|.u....
{ay  If v=_——. prove that : 4
o Vl4x
(1) v =0
) l_..,.
(ry  Praluate 4
._.__:m Yely
fey nd Xoany Yof 4
3 =202
IN L3Y = cand 3X+2Y = N
._-L :-m | T =5
(276 12829 TRY P.T.C.



idy o Tvaluare -
_ 42 ()

i
._..i vt oy

il

=&, tind the value of . 4

o
PEL m___c,ﬂ. M

i 0 b_\_ aj
e LT ) 3 )
A vn&. y={
() ALE: LU
._gomﬁ&.
) [2 _ 2 20

X ST Y W oW W s (b)

_ : —
PoT | __ [ : -
- L e ST e T
| A e R i -
Y= - U——= I-- ANy
O Oy (
ot e A ot = | I TS I
171, “
ﬂa.__‘ (i ﬂ;._x . )
Y —=3 ..m.. r I = AL Lo
Cx €1 ¢z
- 1/
[valuate T4
e.u;..
[N
— e :_f,
N -,. = Mdl
. .
HodiF FIAU
. ,.ut.,.
———dx
v+ 2)”
Evaloate Iy
1
.
_ e mm.x.
-1
. e
e Al L
1
by
T.,_ [TA
-1

(3-12/17)L-125329(TR) 3

L-1252%(TR) 2
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ST o | ¥ ape] 13- | Chmd g v osaeh
M (A -BY -8 ™
N v
TTOA- T B __ﬂ_%,%ﬁ
|2 - 1
v FY ATy A EIfET ) oz 9w 0E
(V4B A= B7
{h o Prove that
d+ea 1 I _
: o1 1 1
1 14 1 |=ahe| 1+ +—=—
.oa hoo
] 1 _.rﬁ,_
g =g = .
HENT. 1
| | SRR
P 1+b T i=aber To— ==
! ; T -
o L 1
5. IF A Is an invertible matrix. prove that ; T
A
(A=A
afz A TF T @
L-12329(TR) 4

(b

(b

Ry

Frnd the snverse o the muatres . T4
[ 3
Nl 13 -3
' |
1
|2 -4 4!
S
TFE A= 13 =3 F YAEAE T
m |
=2 =4 4

Seive the tollowing svstem of equations using

determinants

REGES

T W WEAN w3 gu Aefofan gEieem

-

TFT EA ETA

T
r-z= 9
dv -y =7
Hw._. MM.N.O

X+ 55— 9
dr -1 =7
X -3 -7z =6
Solve T
2 5 10
e — =
X ¥y <
4 6 3
——— 4=
X Vv g
6,9 20,
X oy =z
) P.T.O.

(3-12/781L-12529TR)



23 n
R !
vy
4 6 3
— = e =]
Ay | Z
0. 2_20_,
x v oz
7. (ay bvaluaie
2w =3V = dv =30
.r v -3) VT - de RIZA
thi Prove that
L d,.u_
Al
[y .,,t“rﬁ.ﬂf.f:,Tn:u
1 - nu_
|
[ x g.u__
A
RS v;u?r.v:.fln:u
; N
1 - uui
L-12529(TR) 6

T

8. 1u

(b

3. {(a)

Evaluate

Find the

operations,

1wl Eb%

i

ATSAR

Ve TR
e L
(X 1
d. ._
X
Cu L
Yo F v =)
Ay £

7V
- dx

[
_

’ /A x—aj{x-0)

qafiE T g

Fifag |

(3-12/19)L-12529(TR)

inverse of =3 0 1| by elementary
-1 12
7V
2 -1 47
3 0 1| w wfem
_
-1 1 2
7 : P.T.O.



8. Define formatting in a word processing package like
MS-Word. Define character, paragraph, page formatting
and page setup features in MS-Word, 15
MS-Word &I @& Word Processing Package ¥ wifen
1 uRwife FET 1 MS-Word § W&, W 9w
HHET G O Wesw # favemed @ wftafwa #ife )

9. (a) What is an MS-Excel Package ? Write its four
applications in business. 8
MS-Twie faa @ ¥ 0 fawig § @ WR
s wr fafay

(b) Explain graphical features available in MS-Excel
and name any four types of graphs available in
MS-Excel. 7
MS-THA ¥ ST Whhel O @ =017 Fifs
T MS-THEE ¥ Iveey fEEl WR yER @ ey
F AW FARY

L-12530(TR) 4 2,150

Roll No. ...uonnirviianen Total Pages : 04
OBCE/D-18 12530
INTRODUCTION TO COMPUTER
APPLICATIONS
BC-106

Time : Three Hours) [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
FA UfE TN % IW AT | W gem 1 sfaErd
F

1.  Compulsory Question : 5x4=20

(a}) Define Computer System Configuration, Memory
speed, Capacity and Access time of a computer
system.

(b} Why do we need an operating system ?

(c) Describe any four services provided by computer
network.

(d) Why high level languages are easy to use debug ?

(e} How was Internet developed ?

arfrart ¥

() wgR fawy F9gREE, W0 ofts, awa q@
FrgR (Geq w1 9 @A W afifi st

(3-12119L-12530(TR) P.T.O.



(F) T ARfeT T ) sTavasa = § )

{(H) YR Feas & el AW QO F1 99 Fifoy |

(3) I=d4 @ W GaF use AN debug F U M
¥ 7

(3) 3=t & faem dar gan ?

Describe data storing mechanism, advantages and

iimitations of optical devices (i.e.; CDs and DVDs). 15

sdirer feamgdy (S9- CDs @ DVDs) & ol @en
qost ® wE-T T W gifEE w1 avie Fitee |

Write short notes on the following : 5,5,5
(a) Language translator
(b) Dot Matrix Printer

(¢} Application Software.
frefatea w oty feafomt fafer

(31) 9Ol TEAKR

(@) =iz Az fie

(7) U=y @RI |

{a) What is a client-server network model ? Explain
working of a client server model. 10
FAZE-Fel AZas wied ¥ ¥ ? 7@H wE faafwy |

(b) Why do we need a web browser ? 5

T 99 aNW #t wEW T ad @ 2

1-12530(TR) 2

bxplain  the purpose of the following windows
components 855
(a} Internet Explorer

(b) Recycle bin

{¢c)  Network Neighbourhood.

frefafen favere sadl & sgaedi w1 3w wifEu .
(31) TR TR

() femea fa
(H) g% TEAEL |
6. (a) What are different ways of conuecting to the
internet ? Give their advantages. 8
TREE TR @ F e wE woavh w9
h Nd F ATARY |
{b) Differentiate IP address and Domain Name Space
{DNS) Address. 7
IP TSH @ WA Y WH (DNS) TR § 9w
R Hifeg | .
7. Explain with example of each : 55,5
(a) Network Topology
{by Communication Media
(c) e-Mal
TG F I WEd wHLEY
(31) ea® S[drerst
(@) =R wfem
(W) 374 |
(3-12/15)-12530(TR) 3 P.T.O.



9,

(b)

Use 2’s compliment : 9

-9 -32 +8
-11 +16 -3

s wTEEE W WM FST
-9 -32 +8
~11 +16 -3

Write notes on any rhree of the following :

(a)
(b)
(c)
(d)

Programming Languapes

Use of Computer in Education

Structurc of DOS

Working of Magnetic Disc. 15

frafafem ¥ ¥ fedl @ W wfya  frorr
fafew -

(31) dmfam e

(@) foam F FogR FowEM

(4) DOS H FwE

(=) Wifa femw & F@

L-12537(TR) 4 200

RO NGO, wevrvrerremsvaerecesnenes

Total Pages : 04

OBCE/D-18 12537

COMPUTER FUNDAMENTAL AND

Time : Three Hours]

LOGICAL ORG—I1
BC-105
Computer Application

[Maximum Marks : 8¢

Note : Attempt Five questions in all. Q. No. 1 is compulsory.

1. (a)

(b)

(c)

(d)

&

G-121L-12537(TR)

@ g W @ W dfeu | v wen 1 sfEd
2

Write four limitations of computer.

FOA H G HAE Ty |

Differentiate Compiler and Interpretor.

TR TU TRUIR W =R wa |
Differentiate 2nd and 3rd Generation Computers.
Tl A dwd dE wEged # e Wi
Define Binary and Bootstrap Loader.

A A qRRF el & R g

Abbreviate :

ASCH, EBCDIC, PROM, RAM. 4x5=20
o ¥ faf@Ey -
_ASCIi, EBCDIC, PROM, RAM.

P.T.O.



2. Make Block Diagram of computer and explain essential 6. Discuss DOS commands as CD, RD, FORMAT, DIR,

parts. 15 PATH, BACKUP/RESTORE, CLS. 15
TR F WIE W@ TR TEH  AEYEEH W W CD, RD, FORMAT, DIR, PATH, BACKUP/RESTORE,
e Hifs | | o CLS % ®71 # DOS #UUE 1 aviH Hifm |

3. (a) Explain Linker and Loader. 7. Define Computer Network. Discuss topologies of computer

fa#R g1 ster = =nrew Fifaw
(b) Discuss working of Assembler and Computer. 15

TR d0 FEER B FE W AU FfNG |

Network. . 15
FER ATEH F AfoufiE BT | wEr JeeE w
Aurelish w1 vl Ffeg )

4. Define operating system and how it acts as Resource

8. (@ Do as follows : 6
Manager m ' @ (0, = (12625, = (X)
Y R A R R 2 w7 d " OCN Cm.m.& 10 16
11 =
2w @ & 2 2 5
(i) (X), = 3AB7
5. Differentiate between the following : 15 (iv) (101111100), — ( )
(2) Multiprogramming vs. Multiprocessing - (e
(b) Networking vs. Distributed f= & R #ife .

(¢) Real Time vs. Time Sharing.
frefafer 4 o v Fifgy .
(31) wEWmiET qur AeddrRfET
(W) “eaidn ga fedieges

(@) fow ogw awr T dEfe o

O X), = (12.625)15 = Xy
(i) (X), = (1234);
(iii) (X), = 3AB7
(iv) (101111100), > ( )g
= (e

L-12537(TR) 2 (-12/131-12537(TR) 3 P.T.0.
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OBCE/D-18 12538
BUSINESS DATA PROCESSING AND PC
SOFTWARE-]
BC(Vocj-106
Computer Application

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in al]. Q. No. 1 is compulsory
and carries 20 marks. All other questions carry 15 marks
each.

T U v @ I AT v gem ] HAfrarf
2 7w wEE 3 2 CELINIE g S
e

1. (a) What is file-oriented approach of organizing data ?
SERUCUIECI R S CT e ——— g
(b)  Explain economics of business data processing.
fasa 22 wefdn & iy @ guig wifqr
(c) What is data processing system ?
T wRifen g @ § )
(d) What is record ?
f&E = 2 2

(2-15/6) 1-12538(TR) P.T.O.



QO

(e) What is EDP 2
EDP = & 2

How computer s useful in cartying out  business
functions 7 Discuss.

=R FA H FER B wieE fag gen ¥ 7 goi
Hifae |

What is Information ? What are different types of it ?
What are the characteristics of information ?

T @ R ? R R wem o wm ¥ 2w w
feryand /0 ¥ 2

What is business data processing ? What are various
steps involved in data processing ?

fasre <o wRfdn w0 % 2 Tl Fh-EER e e
€2

What is production cycle ? Describe how a computer can
be useful in various production activities.

S wE w2 2 faf S Rt § ez
U AREE® W Tw@ €, 90 S

What is Validation ? How is it different from verification ?
Explain.
Avew F & ? T T § %8 T @ 7 smem Sif

What do you mean by Data Capturing ? Explain techniques

L-12538(TR) 2

for data capturing.
e WA B oam oww W ¥ v 2w aorn W
FRAFG] F Tof Fifag

What is file organization ? Discuss various types of file
organizations.

RS WS # ¥ ? w6 v w@R waRy |

Discuss various types of files according to the processing
functions along with their characteristics.

S w1 B SRR whedl @ fafe vaR W 9ok
FIfT o 7 favivarst 3t s Wit |

@-15/) L-12538(TR) 3 350
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OBCA/D-18 12541
GENERAL INSURANCE-I
PP1 BC-106 (Voc.)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
FA UG T I AN 1w dem 1 e
z

l. (1) What is the principle of subrogation 7

v w1 fogrm =0 @ @ 2

(i1)  Explain Under Insurance.
Y | BT Ui Hifem |

(i)} What is the principle of Utmost Good Faith ?
W, Safavad w1 fagw W oe 2

(tv) What is comprehensive policy of insurance ?
A w oo e @ Rd g 2

(v) Explain Actuarial. . 5x4=20
Mamad &1 Fui wifay

2. ‘“Insurance is a plan wherein persons collectively sharc
the loss of risks.” Explain.
“dim wE A ? faad el @ dWgE s wifaw
F @z o 1" g AT

(2-75/11) ] ~12541 PT.O.



3. Discuss the principle of indemnity of insurance. Does 8.
this principle apply equally to all kinds of insurance.
4 & afrefd fagrn # enen wfMm | wn w foge
T @ e WowaE ®Y Q@) ek # 2 >

4. What is Insurance Interest ? Should it be compulsorily
present in all types of insurance contracts ?

M oA R ow@ ? ? T oTEe ud wER B s
I A o oowd ® 2
S.  Explain the following :
(a) Doctrine of causa proxima
(b) Over insurance.
frefafaa = =l wifsw .
() Frgean wr/w =1 fugr
(F) afw #tm o

6. Distinguish between Reinsurance and Double Insurance.
What are the advantages of reinsurance.

T 9 dew AW W s wWe wfEn ) g %
el o @

7. Explain arc the advantages of Crop Insurance. Explain
the problems involved in Crop Insurance.
wHS @ B T oem ¥ 2 wua @m oW sfengdl W
vy =i |

1-12541 2

(2-751M2) 1~12541 3

Explain the rights and dutics of an insaranee weerm

.mmm.ﬁ.— _._ur(_",*M ﬂwu.; %Lg. _u. mﬂ\ﬂ 1H.v..-u0.ﬂ.. ;ﬁ .M;- .hﬁ_.._m...;.-.«."__ |

Discuss in detail the specific policies isstcd by | i
Credit Guarantee Corporation in [ndia.

YRd ¥ f5a/@ "wE A frm mzmowd fAere Sias e
ARA] FIAT |

| Fhe}
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BCM/D-18 12544

CORPORATE ACCOUNTING-I
Paper : BC-301

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory
carrying 20 marks. Remaining questions carry 15 marks
each.

AT wE ufe WA % IW G oy wem | ofEd #
S 20 FF T ¥ TN IREE WF 15 I B ¥

1. Compulsory Question ( Af@d we)
Answer in brief :
(a) Give difference between Share and Debenture.
(b) Define capital reserve,

(c) Explain the objects for which Accurities premium can
be used.

(d) What do you mean by Internal Reconstruction.

(e} Define commitments. (5xd4=20)

g o I AT .

(F) S 7 o9 H F=W T

(®) gt Hem = wfwfm w3

Qvuaﬂmmgﬂﬁﬁ?dmi%ggﬂ
e %/

12544/10,300/KD/1308 [P.T.O.
22/11



(W) Irf® TRET | 9w oauwe 87

(F) Foqagast § o9 = oAWE 27

2. A company wants to redeem its 20,000, 12% preference
shares of Rs. 10 each at 10% premium. Following balances
are obtained from their books :

Securities premium — Rs. 6,000

Balance in Surplus Account - Rs. 30,000

Directors redeemed the shares by making minimum fresh
issue of equity shares of Rs. 10 each at 5% premium. Give
necessary Journal entries. 15
TF FEA {10 T T 20000, 12% gEfUER
w1 10% Wi w MR wen TR ¥ e ges d
fr i s fRT oo

wfagfa fftraw - 6,000 &

sufve (surplus) ¥ 99 — 30000 %

o 4 AR GE ¥ 10 € WS AU wHa SE &
5% Wirm w frife =@ e fem s s
yiafedt i

3. Define Book-Building. What steps are taken for issuing
shares under a Book-Building process ? Also give its merits
and demerits. 15
Book-Building #®! uRsif¥a # Book-Building fiFar
W v frim w0 @ fr #$A-¥ 7w e ¥
e A9 a waa o A

12544/10,300/KD/1308 2

4.

Explain briefly issue of debentures at par, at discount and at
premium, Taking imaginary examples, pass necessary Journal
entries in all the cases. 15

TR F WE-I W, FAE @ difew WP #®
T § THEEY T FRSHE S T A qomed H
Femmen wfafest €|

Vinod Ltd. decided to redeem Rs. 50,000, 10% debentures.
It purchased Rs, 40,000 debentures in the open market at
Rs, 97.50 each. The expenses being Rs. 200 and redeemed
the balance of Rs. 10,000 debentures by draw of Lots.
Journalise. 15

e o ¥ 50,000 B F 10% SHUGR VIYH F
frofa fren foad @ 40000 & F 97.50 & Wa HO9H
g R ¥ #9 BFY 59 W 200 T W LI 3w 9N
10000 % F WUNT W IM TR FE w1 ol
e o whafea! #:12

Ascertain the net amount of ‘surplus’ and pass journal entries
for the payment of dividend and bonus shares from the
following :

X Ltd. had balance of surplus A/c for Rs. 1,00,000 on 31st
March, 2017 and made further profit of Rs. 4,00,000 in the
year 2017-18. Directors proposed the following :

(a) Provision for taxation Rs. 70,000,

{b) Dividend equalisation Account Rs. 1,00,000.
(¢) Dividend on equity shares Rs. 1,50,000.

(d) General Reserve Rs. 45,000.

12544/10,300/KD/1308 3 [P.T.O.



(¢) Capitalisation of Rs. 1,00,000 from General Reserve
for the issue of bonus shares.

(f) Provide for corporate dividend tax at 20.358%.

Shareholders approved the dividend and bonus shares
proposed by directors in their annual general meeting
held on July 1, 2018.

Surplus F1 (& 99 T@ i 7 iy 3 wmviw & yam
% o 3 9w oMl # v # wifew wRe-

X Ltd. %1 31 |r¥, 2017 ¥ surplus % 919 100000 3.
o it 2017-18 T F 400000 % w dR @ gom:

oo ¥ e e o

() MEE FT EET 70,000 .
(@) AT FEe @R 1,00,000 T
(T7) 9WH WET 45000 T

(F) g9 felf W I | 50,000 %

(F) o 3y fofftr v 2 g wmm o9 ®
1,00000 & M gwO

(F) FRUE T T F T 20.358% & TEUH

Ayl 3w # s @ ok TEem ®
TE WA | W F e 1, 2018 W oM
odt, 7 Sw v = weaaw fEm TEm

What do you mean by Goodwill valuation ? Discuss the
methods which are used for goodwill valuation ? Which
method is best in your opinion ? 15

12544/10,300/KD/1308 4

TR % e ® ¥9 o e ¥ o 8 g
% fom wam & o 9 ol fafus w1 avl w5t s
far @ #H-d it d= B

The Balance Sheet of Gujarat Oil Ltd. as at 31st March, 2012
was as follows :

I. Equity and Liabilities Rs. Rs.
Shareholder’s Funds
Equity Share Capital (w7 s gsft) - 2,50,000
25,000 Equity Shares of Rs. 10 each
Preference Share Capital (qaifusr stwr &)

(1,500, 12% Preference Shares

of Rs. 100 each) - 1,50,000
Debenture Redemption Fund - 70,000
(RS 9% YA %)
Investment Fluctuation Fund - 20,000
(fafiram e #iv)
Profit and Loss Balance (em-¥f7 ¥w) - 80,000
Non-Current Liabilities
14% Debentures (D %) - 1,00,000
Current Liabilities
Trade Payables (=it =) - 90,000
Outstanding Expenses (3159 =4%) - 10,000
Total 7,70,000

12544/10,300/KD/1308 5 [P.T.O.



II. Assets :

Non-Current Assets

Fixed Assets (vurdt wfagh)
Less Depreciation Fund
(¥ %)

3,50,000
60,000 2,90,000

Goodwill (wafy) - 50,000
Investment (including partly
paid shares) - 60,000
fafsrm (sfvm: g ofvi wfiem)
Current Assets
Inventory (Tsfian) - 1,80,000
Trade Receivables (=t wram)

Good (37=8) 80,000

Doubtful (¥fems) 20,000 1,00,000
Cash at Bank (¥% # =) 40,000
Current/Non-Current Assets
Share Issue Expenses (3w fintas =) 50,000
Total 7,70,000

Preference Dividends are in arrears in last two years. Market
price of investments is Rs. 45,000. Out of doubtful debts,
80% are recoverable. There are contingent liabilities in respect
of the following :

12544/10,300/KD/1308 6

(a) Uncalled liability of Rs. 12,000 on partly paid shares.

{b) On account of a bill of exchange discounted, which is
expected to be materialised Rs. 10,000.

Assuming other assets are worth their book values, you
are required to value the shares according to the break
up value method. 15

TifvEr o w fres @ § @ e ¥ b Rl
H AGR TEF 45000 T & TROW HOK | 80% WE T
# o ¥ Pre B T ¥ gefan afee €

(%) Sy qwa o W oarEet Wt e 12,000
T ¥

(@) g T fre W oo, R gETEn A e
%, 10000 %
o oY e F v aofE W g T Ewd
™= & s ¥ gt % e g ffu @
SAER e ® §Ea F WA WY

Define Amalgamation. Also mention its objectives.
Distinguish between amalgamation and absorption. 15

THET F G w5 e SRwd ot S e
g gfEeeT § R Sanl

12544/10,300/KD/1308 7
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BUSINESS STATISTICS
Paper : BC-302

Time : Three Hours] [Maximum Marks : 80

Note :

Attempt five questions in all. Q. No. 1 is compulsory,
which comprises short answer questions of 4 marks each.
Attempt four questions from the remaining 8 questions
carrying 15 marks each,

ﬁaﬁﬂ&ﬂaﬂ&ﬂﬂ_ﬁunﬂwmﬂaw
T Y IR v ¥ ok e W 4 s om R
&awﬁmimniﬂﬂﬁ&%mﬂﬁﬂﬂ
TEE U 15 3w 37 ¥

1. Compulsory Question ( 31frard wyw)

Short answer questions.

(a)

(b)
(c)

(d)
(€)

12545/1

What are the essential characteristics of a good
questionnaire ?

State the properties of Arithmetic mean.

Why is Fisher's 1ormula of Index number called
"Ideal” ?

Explain briefly the additive model of Time sertes.

What do you understand by Lorenz curve 7

0,350/KD/R867/Trans. [P.T.O.
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Y Ing W

(F)F = T ¥ mE favwed w6

(@) wHim wmg #w fRdwad geEn

(M fER | wF den w1 gy “orel” s wwem
%7

(9) F19 Fot % WM Aigd W ¥EY § TEEE)

(T) TR &% | a9 wn wawd 2

What is Statistics ? Explain the uses and importance of
Statistics in business world with suitable examples.

uifiera 0 2 =uRE fava ¥ wites) & e
T H SUgE AW WiEd TEeeu)

Compute Median, Q,, D, and Py, from the following data :

X :0-10 10-20 20-30 30-40 40-50 50-60

F : 10 12 20 18 13 7
frfefon m#mﬂ% 9 mfers, Q). D, 3 Py T O]
I :

X :0-10 10-20 20-30 30-40 40-50 50-60
F : 10 12 20 18 13 7

12545/10,350/KD/867 2

4.

An analysis of the monthly wages paid to workers in firm X
and Y belonging to the same industry gives the following
results :

FirmX FmY

Number of workers 600 500
Average monthly wages (¥) 175 186
Variance of distribution of wages (%) 100 81

(a) Which firm pays a larger wage bill ?
(b) In which firm is there greater variability in individual

wages ?

(c) Find the combined Mean and Standard Deviation of
wages of the two firins taken together.

TH TAM Y TR BT AR X T Y #® wmm my
g fFe e oifeE S # faven @ 9oy freratag
£

Fem X fFEY
FEM T wEn 600 500
s TfeF A () 175 186
I F R w1 O Q) 100 81

(F) FH-T fraem R 3a9 o o wen 2
(@) frg frem § =feme 994 & wied = O

(M A P W Wy T g, A9 R gE W Ao
A fEer w s st

12545/10,350/KD/867 3 [P.T.O.



5. Calculate Fisher's Ideal Index Number from given data and
show that it satisfies the Time reversal and Factor reversal
test

Base Year Current Year
Commodity
Price | Expenditure Price | Expenditure
A 12 600 20 1120
B 4 400 4 480
C 8 480 12 720
D 20 600 24 576
E 16 640 24 864

frq my sfwel g fRER smeet gEeiE F1 T s
A W fF 77 T AW A FE A
T T TR F R

YR T TEEE T
ay

Sl =4 Sl bkl
A 12 600 20 1120
B 4 400 4 480
C 8 480 12 720
D 20 600 24 576
E 16 640 24 864

12545/10,350/KD/867 4

6. Given below are two price index series. Specify them on the
base 2005 = 100.

Year 2001 2002 2003 2004 2005 2006 2007 2008 2009 2010

Old Price 100 110 120 125 150 - - - - -
Index
2001=100

New Price - - - - 100 115 120 130 140 160
Index
2005=100

9 @ T guwE gEand f v ¥ 3 2005=100 B
IR W dEu

a 2001 2002 2063 2004 2005 2006 2007 2008 2009 2010

TE R 1000 1100 1200 125 150 - - - - -

T
2001=1C0

RN G - - - - 100 115 120 130 140 160

AT
2005=100

7. Following data relate to sales of XYZ Ltd. :

Year 2010 2011 2012 2013 2014 2015 2016

Sales 20 40 60 112 80 120 140
(Rs. Lakhs)

(a) Fit a straight line trend by method of least square, and
tabulate the trend values.

(b) Estimate the likely sales for the year 2020.

12545/10,350/KD/867 5 (P.T.O.



(c) Convert annual trend equation into monthly trend
equation.

{d) What is the monthly increase in the sales 7

frfafen 2 Xvz fa % fpst 9 w2 wu &

T 2000 2011 2012 2013 2014 2015 2016
[EEa 200 40 60 112 80 120 140
(. omE W

@) wrm 31 fafy gv o w@ W oW ww oW
TEIM HIT qur wafy 9 W wfeEs SRt

(@) Fd 2020 & fore wafga fast =1 s wifw

(m) wfiw vt aiew ® wfvs gt wdeo §
vfafie wifw)

(w) fagt & wies afy feedt 32
Write short notes on the following :

(a) Ratio to Moving average.

(b) Fitting of Second degree parabolic trend.

frefafas w wftra A faflo .
(F) 7 sim B fag e
(@) fim wife % v vy =1 e

12545/10,350/KD/867 6

9.  What do you mean by Primary data ? Differentiate between
Primary and Secondary data. What are the different methods
of collecting primary data ?

vl wfe’ 2 ame wmoaeed ®7 wafts wen

fgdlm® wiwgf 6 9 wmoawmy wefw sfwel @

U w w Wi bt e 87
12545/10,350/KD/867 7
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BCM/D-18 12546

BUSINESS LAWS-I
Paper : BC-303

Time : Three Hours) [Maximum Marks : 80

Note : Q. No. 1 is compulsory. Attempt five questions in all.
Select four questions from the remaining eight questions,

A2 ;T TEw 1 IFEd f s v v it sy e
e v ¥ ¥ A ww oW s ffw

Compulsory Question

(g wew)

1. Answer the following in short :
(a) Describe the essential elements of a proposal.
(b)Y Write a note on Adequacy of consideration.
(c) Who can become an agent ? Explain.
(d) What are the rights of an unpaid seller ?
(e) Write short note on Contingent contract. (5x4=20)
Tug o I| A .
(F) & V<@ F HNEvIE g HoguE iR
(@) AP 1 waw@A W Tw frogot fafaw

(M) = ®1 W gFa &2 srEn #@f
12546/10,300/KD/1125 (P.T.O.
112



(%) a9 feEm B s sRmwr #2
(%) gafF s WS feooh fafeg

Define the term 'Contract'. Explain the essential elements of
a Valid contract. 15

sy F TRem AR TE 3 sTwM ® we
T

" A minor binds others, but is never bound by others." Explain
and discuss rules regarding minor. 15

v sTETEE O W oA w ¥, e = g T
B T Fhw @ T ® ogEy % fawa H
fraw wamUl

Explain briefly the various kinds of Void agreements under
the Indian Contract Act. 15

wd s sfufrm % anie fafie weR ® =4
TS W WET H AR

What are the rules relating to the person, time and place of
performance ? Explain. 15
e & =R, ¥ 9 W ® wE § wn Prem
¥ W F

Define Contract of Indemnity. Distinguish between Indemnity
and Guarantee. Discuss the rights of Indemnity holder. 15

12546/10,300/KD/1125 2

Tfen ey w1 ufoww ffsw wiren wen wfeyfe
AEy § oF M B wira % sfuwd woaoiR
Fifg)

What is Ratification ? State the conditions that must be
fulfilled before this doctrine could apply to the act of any
agent. 15

st F #7 39 W w1 aum e e 9f 1w
P ® R TR B wEl W e R Y 7E o
2|

“No seller can give the buyer of goods a better title than he
himself has.” Describe briefly the exceptions to this rule as
laid down in the Indian Sales of Goods Act. 15

“FrE oft fAEE B W AW W WE W A= AfUER
T 2 gFw ¥ o fm ) weEny w9 IR
foFg sfufam & ogEr @ fram & o w1
TR FIfAT

Explain the main problems of consumer, and explain the
rights of consumer under Consumer Protection Act, 1986.
15

Iy & g gnee @ &) v s sfufa,
1986 ® o=l sodEn ® fafim sfusd =1 a0
FHifarg)

12546/10,300/KD/1125 3
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COMPANY LAW-I
Paper : BC-304

Time : Three Hours] [Maximum Marks : 80

Note :

Question No. | is compulsory. It consists of five questions
of 4 marks each. Answer to each question should not be
more than one page. Attempt four questions from the
remaining eight questions carrying 15 marks each.

T W 1 atEE # 3o 4 IF ae ufer v ¥
TE W F IR 1 gS ¥ afus w oW o

ey 99 38y H ¥ 9 R v # s s

T™F TE 15 3F F L

Compulsory Question ( 3f@ETd we)

1. Write short notes on the foliowing :

(a) Difference between Private company and Public
company.
(by Doctrine of Ultra-vires.
{¢) Deemed Prospectus.
(d} Depository system.
(e) Venture capital. (4x5=20)
12547/10,200/KD/1255 [P.T.O.
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= ) g = g

(F) ft Tt o gEeRE w0 R e
(@) ¥R % 9 *1 fagma

(M) A1 ST S Wi

() feufeedt fawm)
(%) TEfes g

2. A company is an artificial person created by law with a
perpetual succession and a common real.” Discuss the
statement with the help of some legal cases, 15
‘Ft favm g il s Fhm =i ¢ fame e
dEE @ wE-aEm B 2w v w s e
T R T A WD FA WES! w e F

3. “A promotor is neither a trustee nor an agent for a company,
but he stands in a fiduciary position towards it.” Discuss
this statement. 15
YYEE wT OE 7 W WA e A sfuwe, swe
FT ® way A favewiym fofy B9 ¥ @ wem =
fadam =1

4. Explain the clauses of Memorandum of Association as
prescribed by Companies Act, 1956. 15
T Wi ® w9 efufrEm, 1956 g Fvife
T F: I

12547/10,200/KD/1255 2

Distinguish between Share warrant and Share certificate. What
are the effects of the issue of share warrant and share
certificate ? {7.8)

o fues o oW woU-TE A s WAy ofw erfvuy
I FW OYHI-US W FE ¥ I WE By 8

What do you mean by Transfer of Shares ? Discuss the
procedure of Transfer of shares. (5,10

M F OTERT ¥ ANE T oafhym &) swi ®
T W fafy # fagws w0

What is Debenture ? How is it different from Debenture
stock 7 Explain the method of issuing debentures. (5,5,5)

FO-TF T ) AW KO- T Y o B #)
o7 e 1 fafu w1 osmen w5

What is share capital ? Explain different forms of capital.
(5,10)

At = A U F AR w ow TR WY
Differentiate between Fixed charge and Floating charge. Also

explain crystallisation of a Floating charge. (7,8)

fer 3R R w9 wuR ¥ s wY w9 yOR F®
ferfmm 3t o = =1

12547/10,200/KD/1255 3
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INDIAN FINANCIAL SYSTEM
Paper : BC-305
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 i3

compulsory.

T wE U WA ® 3w A v "o 1 sfEd
1. Compulsory Question ( 3tfard wes)

Answer the following :

()
)

What do you mean by New Issue Market ?

Explain the difference between DEMAT and Physical
shares.

{c) What do you mean by Treasury Bill ?

(d) Explain the services offered by Payment Bank.

{e) Explain the difference between Development Banks and
Commercial Banks. (5x4=20)

frm ® Im &._;d__.m :

(%) Q0 folm SR} eve w foma 27

(@) fedz 3 Jfer T A o w =mEn s
(M 39 fom F v w®n ofinma @2

() PR 9% 0§ 9 A dm F oavl Fifa
(%) farm A= ot Tftn ¥ § o=m F1 =REn

Fifaa

12548/9,250/KD/1643 [P.T.O.
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Define Money market. Explain the main weaknesses of
Indian money market. What measures have been taken to
strengthen Indian money market ? 15

W AR FwfafE witve TRdE 9@ e w5 g
FAANA H T FHITY TRAT G AER F GG IR
# fow FH-8 s R oW &

What is Depository system in India ? How is Depository
system beneficial for various stakeholders ? Also explain
the Depository process. 15

e ¥ feafngdt =gemen 70 %2 fedfed sgamen fafiy=
feurs! & fou #9 &ved 27 fsd wiea =1 ot
FqUA FHI

What do you mean by Debt market ? Expiain in detail the
main debt instruments used in Debt market in India. 15

WU AR W U T FATE 82 R ¥ O 99w W
WA BF S YgE RO §AA w R ¥ g9 Wi

Discuss the achievements and failures of Reserve Bank of
India. 15

TRetg o §F 1 syeferdt @ fawesy @ =t W

What is Credit Control ? Explain the quantitative and
qualitative method of Credit control. 15

e frem w=n 82 S feem ¥ diaoes wE
Tt fafuaf w1 oaviE &=

12548/9,250/KD/1643 2

7.

Explain the functions of Commercial Banks in India. Also
discuss the significance of Commercial banks in the
economic development of the country, 15

T # AviEs o #F o ow oaum wY) twm @
fE e ¥ ot 3% % = 9 f smen
Eqied

What are NPAs ? Explain the causes of emergence of Non-
performing assets. and suggest the measures to solve the
problem of Non-performing assets. 15

- gufrat 7 #7 To-freres oo = Sty
F IR R o v F oween © 9N
% fom 3w w1 ggmE 9

Explain the term E-Banking. Which banking services are
provided electronically in India ? 15

W d4fET TR W @Y weEn) e O S-SR W
e TN E wem ¥ TEE w1 oW ¥

12548/9,250/KD/1643 3
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BCM/D-18 12549

RURAL MARKETING
Paper : BC-306(i)

Time : Three Hours] [Maximum Marks : 80

Note :

e

Question No. 1 is compulsory. Attempt any four questions
from the remaining 8 questions,

W gem | At B v oe WA B @ R wmw
T ® ST )

1. Compulsory Question ( 3t wyw)

Write short notes on the following :

(a)
(b)
(c)

(e)

Opportunities in Rural Marketing.

Profile of Rural Consumer Behaviour.

Psychographic Segmentation.

Opinion Leader,

Gyandoot. (dx5=20)

= W Hfare feofmt fafag :

(%) ol fagom H s

(@) mfror SosiEaT sgaER F TN
() e i

(9) HMEHR |

(F) s
12549/7,250/KD/1891 [P.T.O.
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N.

Many marketers feel that Rural markets are similar to Urban
markets. Do you justify this ? Give reascns. 15

R fomrdl 7w wegm 70 ¥ fiv ado amm ok
T AR vweEm ¥ ;oS0 e SfEE oo e
FNU

»

3.  What is Market Segmentation ? How will you segment the
rural markets in case of the following products
(a) Shampoo.
{b) Mobile Phone,
(¢} Tooth Paste. (6,9)
faom fufe = 82 9 sarl ® wed A o
T A W fawfien # R
() I
(@) W9 EF|
(M Tg9=

4. “Rural consumers are brand loyal.” Elucidate the statement.

15

‘o ST WE AeRER ¥ e W TR W)

5. Discuss the importance of Haats, Melas and Mandis in rural
distribution and promotion. Give examples. 15
T R aen WA A w2, A9 ol wRed w1 oF
T ¥ I 3

12549/7,250/KD/1891 2

Describe the job of a Rural sales person and how it is different
from Urban sales person. What is the importance of personal
selling in rural areas ? (5+5+5=15)

i fawasdl ® ®wW # 9 WX sk At fF 9w
Tl fawmmal @ $9 ewem ¥ oo e W dafew
faFa =1 71 wew ¥

Discuss the various marketing strategies in Rural markets.
15

i e #Y fafo= fagem ooeRfEl F w9

Discuss various E-initiatives adopted by government in Rural
markets of India. 15

qRe ¥ I geR ¥ R gR S9Am MU fafee
9w osre

Elucidate the profile of Rural market and its implication for
the Marketing Manager. 15

THT FeR F T P IR § §AEne 9w faoom
TraE ¥ fau o Pt e #ifw

12549/7,250/KD/1891 3
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FOREIGN TRADE OF INDIA
Paper-BC 306(ii)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Q. No. | is compulsory.

e . ot ater s w1 W d v wen | wtEr

Compulsory Question ( atfrard wy+)

1.  Explain the following :
(a) Forms of Balance of Payments.
(b) Standardised Product Strategy.
(¢) Levels of Product.
(d) Star Trading House,
(e) Special Drawing Rights (SDR). (5%4=20)
ey =1 o9oie e
(F) g 99 * w9
(@) yfom Sar Torifay
(M) 3T & T
() VR =R X
(%) favm s arfirer)

12550/1,900/KDy/1472 [P.T.O.
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Discuss the main features of Indian Foreign Trade. What are
the problems of Indian Foreign Trade? (7+8=15)

Wi friEht =R ¥ qe Rl wowvil w
wrefn et =R F o gee ¥

Discuss the various methods of entering into international
trade. 15
Srfdn =R ¥ wEn A w fafwm Al w oA
F

What is new product development? Discuss the stages in
the process of new product development. (5+10=15)
sz e w32 N IR ® e w owfEn @
faf= = & ae R

Explain the product life cycle theory of international trade.
What are the exceptions to this theory ? (10+5=135)

S =R #F W WA wH SEuRen w1 v
| vg s ® oreEE W ¥

Explain the important documents used in export trade, 15
frof =R A WM AR TR wEE TRm w1 EvE
FI

Write notes in :

(a) New Foreign Trade Policy.

(b) Payment terms in International Price Quotations.
(8+7=15)

12550/1,900/KD/1472 2

fm w A

(%) 7 faw =z

(@) st wea el ® gwEw @

What is WTO? Explain its advantages and disadvantages
for India. (5+10=15)
favs =R TST T 7 AR ® Y W WS ® e
o oW w oA wW

Write notes on ¢

(a) Export Promotion.

(b) Special Economic Zone. (8+7=15)
e W AR o

(%) Frafa dag

(@) faem snfeie &)

12550/1,900/KD/1472 3
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BCM/D-18 12562

COMPUTER APPLICATION
(Data Structure)
Paper-BC (VOC)-305

[Maximum Marks : 60

Note : Question No. 1 is compulsory. Attempt any four question

out of remaining eight questions.

AT : T Wem | At ¥ 9w o wed ¥ W FR §

o Y % I Afm

1. Compulsory Question ( 1fmard Wy )
(a) What do you mean by linear data structure and also
define array and declare 2-D array in C Language ? 4
(b) What is double Queue. Write its example. 4
(c) What do mean by Link list and its use over array data
structure? 4
(d) What are the application of queue operations 7 4
{e} What do you mean by sequential files and write its
examples 7 4
(%) Yfags T2 o=} o9 F oAk € oA C
g F SR @R wifm 2-D 9oft = «ff wfonfve
Exd
12562/1,200/KD/1525/Trans. [P.T.O.
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(B | = 4 W Tww fafEn

(M fF gt 7o ooft I G w TR IwEm oW
Al #?

(9) F TR ® srvEm s &

(¥) Igwfs oell | e ®y wwd ¥ aw e
TN fAfa?

Write an algorithm to implement Stack PUSH operation. 10

BE T A # ] w0 R TE TiRem R

What is Queue and write an algorithm to delete data in linear
Quene ? 10

A iEes B Y3 w R R o
THNRem

What is Circular Queue and write an algorithm to insert data
in simple Queue ? 10

T A T T R Y ¥ e § fm e
THifem o

What is double link list ? Write an algorithm to insert data at
first and last position in single link list. 10

T fow o=t = A2 wrw foiw g ¥ weeh ok ofm
fufy % 2 o # frn ™ TEifem

What is Circular link list and write an algorithm to delete
data at any position. 10

12562/1,200/KD/1525 2

TR fiF gt = R oaw fRe oh feft A @ wer
+ fu vw Tenhem fad)

What do you mean by Tree and explain B-tree with example.
? |/ v oA ® 9o B-@ ¥ e & Wy
e #ifg

Write an algorithm to multiply two matrix of order MxN
using array and find its address.

ool F ST FTE MxN AR # @ A w omon
O % fu w Tefem RS AW s@Er va @ m
#ifee)

What do you mean by files ? Write indexed file and serial
file.

TRE @ owem w oo 7 TR wEe @
FhF wma w fafau

12562/1,200/KD/1525 3
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COMPUTER APPLICATIONS
(Fundamentals of Data Base Management System)
Paper : BC (VOC)-306
(New Syllabus)

Time : Three Hours) [Maximum Marks : 60

Note : Attempt five questions in all. Question No. 1 s compulsory,
All questions carry equal marks.

AT : I Ol T F I A T ge | st &) it
Y H HE WEE E)

1. Compulsory Question (3fard wya)
(i) Explain elements of Data Base system.
Data Base system ¥ 9 F1 =& X
(i) Explain BCNF.
BCNF =} zamzn #i
(iil)y State any nwo objectives of three level architecture.
q™ =R F A # R of 9 v w omam
{iv) Explain types of Data Base users.
Data Base I9afTaes % w&R &1 = 33
(v) What do you mean by Data independence?
Data independence ¥ 3TH ¥ Tag 27
(vi) Explain Super Key.
Super Key T =01 &Y

12563/1200/KD/2063 [RT.Q.
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What is the difference between Data Base user and Data
Base administrator ? Explain various functions of Data
Base administrator.

Data Base ST 3R 22R9W =amugw 3 s o
AT TN HELYF F A= w5 srem w7

What is File system Approach? Differenciate between File
system approach and Data Base approach.

File system 3™ ¥} =amal #¢? File system s
3 Data Base 3f®™ & R wam)

(a) List the functions of DBA. What are its responsibilities?
DBA % % HI gt 3 sow famifa s 7
{b) Define DBMS. Give functions of DBMS.
DBMS #! wiaifia %<1 DBMS % %l #1 sare #¢)

What do you mean by Normal Form? Why it is required?
Discuss the Normal Form with suitable example.

Normal Form ¥ #19e w7 fiwm 7 w9 smavasa
TAE| I IO F WY Normal form R T )

(a) Explain Network Data Model and its operations,
Network Data Model 3R 34% uftareri =1 =amem
F|

(b) Explain Procedure and Pakages.
Procedure and Pakages &1 =& i

12563/1200/KD/2063 2

Explain various notations used in E-R Model. What is the
purpose of those notations ?

E-R Model ® I %} 9 areh o= frosfri % =
F 37 YA F OSWG F;qRY

Describe various types of anomalies in a Data Base.
How can we remove them? Explain with example.

Data Base ¥ faf9y= ver =t fagnfirgi &1 3ol =%
I 9 famm w1

Write short notes on the following :
(a) Create.

(b) Insert.

(¢} Triggers.

(dy Data Base Links.

frefafeas = dfira e ford
(%) Create.

(@) Insert.

() Triggers.

(9) Data Base =1

12563/1200/KD/2063 3
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BCM/D-18 12564

OFFICE PRACTICE AND COMMUNICATION
Paper-OMSP-BC (Voc)-305

Time : Three Hours] [Maximum Marks : 60

Note : Attempt five questions in all. Question No. 1 is
compulsory.

qT . T ol TR FRm W wom | s R

Compulsory Question ( 31¥amd W9H)

1. Write short notes on followings. Answer of short notes
should not be more than one page.

(a) Official Language Department in a Government Office.

a
(b} WireFile 4
(¢) Biometric Time attendance machine 4
(d) Indexing. 4
(e) Ink Jet Printer. 4

Eal

(F) T FEEg § g9 fawm
(@) R FEA|
(M) Mafida way sufrfy weis

12564/100/KD/ 1459 [P.T.O.
13/12



(9) sFwaoE
(F) ¥ TF)

"An office is regarded as a place where the control
mechanisms for an organization are located.” Comment on
this statement and explain importance of a modern office.
10
‘Tl F T WE W WM §wa € ww e #)
Frm syeen feem Bt &1’ W wem W e T dfm

o My R FEEE T mee 9O

Distinguish between horizontal and vertical filing systems.
What are the main advantages of vertical filing? What are
equipment necessary for vertical filing? 10

Toae it v Tl gzhat § Ox WY vid T
T F gEm T ow ¥ W iwm wgh o e
F-F TE-GHE ] AEVIFES Ted &2

Explain objectives, types and operation of duplicator. 10

TEIRATATERT T3 % ILFY, TER qu GaAeN QR

What do you understand by malwares? How are they harmful
to computer in an office? How will you protect computers
in your office from malwares as a manager? 10

AR W A F oafia 22 3 uw wEem o
Fon ® o 39 wfers ¥ ™ W ® w9 9
q9 A IR W FgEd N oueRm ¥ 9 g
w7

12564/100/KD/1459 2

6.

Discuss importance and application of word processor in a
business office. 10

FECAE FHE W T TS OTER qen srwan
T T )

7. Evaluate centralized system of office services? 10
FEEE v # wigT =Eer w1 gewss St

8. What is a scanner? Discuss its importance and application
in modern office. 10
W A ¥ T weE § TR wEe ol s
F AU FIf

9. Discuss the role of various devices in office automation.

10

FEEE wWEer ¥ fafvs swwon w1 qfter w5 oavis
el

12564/100/KD/1459 3



Roll No. ... e Total : . .
° ° otal Pages : 2 6. What material is required for stencil cutting?

BCM/D-18 HNMQM 7. What are the salient features of Electronic Tvpewriter?
TYPEWRITING (THEORY) ENGLISH
Paper : OMSP-BC-306 8. What is the difference between Electric and Electronic
Typewriter?
Time : Three Hours] [Maximum Marks : 60

9. What is the use of erasing shield during correction of error?

Note : Attempt five questions in all. Question No. 1 is compulsory.
All questions carry equal marks.

1. Compulsory Question
(a) Difference-Squeezing and Spreading
(b} Backing Sheet, Explain
(c) Note on - Stencil, Duplicating Machine
(d) Use of eraser in carbon
(e} Correction of error on Stencil.

2.  What is error and omission? Explain it with example.

3. Explain
(i) Signature
(ii)) Duplicator

4. Explain correction of errors on stencil paper — when paper
is on machine.

5. What are kinds of duplicators? How you will be taking
copies on duplicator?

12565/100/KD/1552 PTO.
56 S f:o» 12565/100/KD/1552 2



9.  Write notes, up to 250 words each, on the following :
(a) Consumer protection in insurance.
(b} Arbitration.
{c) Product approval regulation of IRDA,

(d} Risk protected under Marine Insurance.

e 4 9 wRw w250 W= TR e fafa

(F) A F wEw T

(@) wvaEem|

(M M (IRDA) ¥ IR AR fafrmm
(7) TP W ® wwn whwm S

12567/100/KD/1305 4

Roll No. .o Total Pages : 4

BCM/D-18 12567

INSURANCE BUSINESS REGULATIONS
Paper . PPI-BC (Voc)-306

Time : Three Hours] [Maximum Marks : 60

Note : Question No. 1 is compulsory. Each part of this question
carries 4 marks. Attempt four other questions out of the
remaining questions 2 to 9 carrying 10 marks each.

Az : w7 ot ® s A T FEm 1 afeEe
WHF TEE M4 AF R 2I oM ow ¥
¥ 79 T ORI F I G w owWE T
10 3F w1}

1. Compulsory Question ( 2Frard wv)
Write down 1 page notes on each of the following :
{a) Objective of Indian Insurance Act, 1938.
(b) IRDA guidelines about Licensing of insurers.
(¢} IRDA regulation about product approval.
(d) Role of Insurance Ombudsmen.
(e) ECGC Act.
frefafas 5 % v = 1 W™ w1 G e

(w) widig o afufigs, 1938 ® EE

(@) Froredien @ adfen ® 9 F MM AT (IRDA)
F feamfw

12567/100/KD/1305/Trans. [P.T.O.
17/12



(M IO HEET F aR & AR (IRDA)
fafra=m)

(7) &t wrrae = qfimE
(¥) ECGC afufram

List out the main provisions of the Indian Insurance Act,
1938. Elaborate its provisions about registration (Sec. 3) and
submission of returns (Sec 14; 16-2) and prohibition of rebates
(Sec. 41).

g i sfafem, 1938 ® geR wmuTe wt g
TR TRE (FgSR-3), fed s wen (ergede-
14, 16-2) 3R qE #1 friz (ag=T-41) F T § R
TEVE F TR Ff

Describe powers and functions of IRDA regarding its
guidelines about audit, supervision, investments and
grievance redressal.

@ qier, wERee, fEw ok freee fEme B oW S

s frrfewl ® ¥ey § smism#ln (IRDA) #
i ik w1t w1 3 Hifem)

What are the guideline of IRDA regarding rural and social
sector obligations, micro insurance and financial inclusion?

T Sl Tl d F owe, g fm sk R
TN & WA ¥ sEARAT (IRDA) ¥ fwmfrw
T 7

12567/100/KD/1305 2

m‘

What are the functions of GIC ? Give an overview of main
provisions of General Insurance Corporation Act.

GIC & % 7 ¥ W fim FRem ofufram =
T TEUH H SEe i

Elaborate the provisions of LIC Act, 1956 concerning audit
of its accounts, utilisation of surplus, reports to be laid down
before parliament, and commission to agents.

I wE F dE e, afuey w1 oswam, wwe
TRy U9 H IR AR o sk el w5 e @
HEy # wAamE sfufrem, 1956 F vy # o
Eard

Describe the recent amendments of Motor Vehicle Act. How
vehicles are classified under this act? Explain legal position
about third party insurance.

A W Afufem § v # F gu s w gl
Fitwel W HAfufm # 79 A = TiEa $9 fFa
W ¥ dfrwd wd A R AR ¥ wEh Ry w
EdiE g

Discuss main provisions of Employee State Insurance Act.

A0 T A9 sfutem € ge wauw w1 fEw
FITwT|

12567/100/KD/1305 3 [P.T.O.
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BCM/D-18 12568

ADVERTISING MEDIA
Paper-BC-305

Time : Three Hours] [Maximum Marks : 60

Note :

A

Attempt five questions in all. Question No. 1 is
compulsory. Attempt any four questions from remaining
eight questions.

et e g # IR 2 v gE | afEd t e
e oy o ¥ e uw v ® I %)

1. Compulsory Question ( 3frard uyw)

Short answer questions :

(a)
(b)
(c)
(d)
(e)

What do you mean by Media in Advertising ?
What do you mean by Internet Advertising ?
Explain main advantages of Newspaper Advertising.
Explain various phases of Media Scheduling.

What do you mean by Media Planning ? 20

Ha@ I T WA
(F) fasm & gl ¥ difem ¥ s = guwy ¥
(W) =T e § oM T T

12568/250/KD/2066 [P.T.O.
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(M) TrER-T e & gem wst = ool
() Hifem-gagaga #1 fafi= samned 71 793 &Y
(¥) Hifsm-fraies & =1 shm 7

What are the various types of media for Advertising ?
Explain various media for advertising in brief. 10

frm = fafye e sR-3R 8 & & e
Hifem =t wfya =mem #:1)
What do you mean by broadcast advertising media?

Explain television as an important media of broadcast
advertising. 10

TR femm difem @ o T wuwm ¥ adfEs &
var-fan # wewqd Wifem ¥ own § swen v

What is press or print media ? What are its various forms ?
Describe the advantages and disadvantages of various forms
of print advertising. 10

fiz difen ¥ am T TR ¥ fie difew ® fafis
Y T OB GFA ¥ fir difewm # fafam = @
TO-r6 H SRS H

What are the challenges of rural market advertising in moden
times? Explain. 10

ayfr qn o wetm a3 F famoa gEf g e
¥ =mEn Fitw

[

Write notes on the following :

(a) Point of Purchase Advertising.

{b} Yellow Pages Advertising ? 10
= ot feooh fod .

(F)FI F T99 7 ™H W a7
(@) = 9= faRme

What factors should be considered by advertiser while
framing media plan ? 10

e arem T wwa faareea w5 fr as = owm
@ afE?

What do you mean by media scheduling ? Explain media
scheduling strategies. 10

e waEga | v F= afiwa 27 i awmaga
rfifrl w1 owlR =)
Explain media-cost as a factors of media planning. 10

Hifga = 1 difew-fase £ =% & w9 4 avfd
Exdl

12568/250/KD/2066 3
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BCM/D-18 12569

PERSONAL SELLING AND SALESMANSHIP
Paper-ASPSM-BC (Voc)-306

Time : Three Hours] [Maximum Marks : 60

Note : Attempt five questions in all, Question No. 1 is
compulsory. All questions carry equal marks.

W . F@ e ww e e wem | ofEd & e
Wi F &

Compulsory Question ( 27a™d W9v)

1. Write short notes on the following :
(a) AIDA Model of selling.
{b) Handling objections.
(¢) Industrial market.
(d) Effective selling process.
(e) Prospecting. (5x%4=20)
fra w dfa Az fafeg .
(F) faF78 1 AIDA wEH

(@) smafe fHaem

12569/310/KD/786 [P.T.O.
17/12



(M) efE Tem)
9) waEwnr fawa wfEm
(¥) e

What is Personal selling? Discuss the nature of personal
selling. 10
=i fawa = ¥ e forg 9 weh #t ==

EiE

Briefly discuss the various types of sales persons. 10
ot % fafy= yerl 3t 989 § 9= =i

What do you mean by approach in selling process ? Explain
its methods of making approach. 10

fora wfFrm & vg9 @ T st ¥ wge # fafa
F AT W

Explain the different types of Buying motives. 10
faf= 7R % F7 WA ¥ aUR HfIT

"Salesman are made not born." Discuss. 10

“fapawst gg TR ¥ Y ol " avl wif

Discuss the implications of consumer markets for the selling
functions. 10

fama wE ® fau suiEw so ® fafeed =) faem
FifAT)

12569/310/KD/786 2

8. Explain with the help of suitable examples, where personal
selling is more effective than Advertising. 10
=i fawa, e @ wEl W oerfyw ww #2
STF TN W qEAW W S Bt

9. Explain the essentials of effective salesmanship. 10
et Prrawer w5 faswame @ w0l w

12569/310/KD/786 3
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OBCM/D-18 12570
CORPORATE ACCOUNTING-I
Paper : BC-301
ime : Three Hours] [Maximum Marks : 80

ote : Attempt five questions in all. Question No. 1 is
compulsory.

T FH U WA F IR A ww e | sfEd #

Compulsory Question ( 3rFrart wov)
(a) What is Reserve capital ?

(b) Capitalisation of Profit,

(¢c) Write a note on Bearer debenture.

(d) What is Deferred tax liability ?

L SR ~ N N U

(e) What is Sub-division of shares ?
(F) mfga gt &= 27

(@) T F1 geiie|

(M) "EF W|MU-T3 W A= fafEu
(7) wiftm =R ofem = &2

() 3w =1 Iufaursm o\ ¥

70°8,200°KD/183 [P.T.O.



2.

X Ltd. was registered with an authorised capital of 2,00,000
shares of ¥ 10 each. It purchased Asset of Y Ltd. for
¥ 3,00,000 and issued fully paid shares for purchase
consideration. It also invited applications for 1,20,000 shares
payable as under :

¥ 2.50 on application, T 2.50 on allotment, ¥ 2 on first call
and ¥ 3 on final call.

Naveen, who had been allotted 400 shares failed to pay the
final call. His shares were forfeited of re-issued at T 8.50

per share as fully paid-up.

Pass Journal entries, 15
X & 200000 9 # afuga ¢ & ok s
10 ¥ e 3w 0wt 3 Y § T 300000 ¥ wmiy
FT W EE A ¥ qOER SW 2 frw 120000 Wi
% fog wdm-vs smfae few @ P wER 8-

W S T 2.50 HETR W, T 2.50 FH W, T 2 WM
T W AR ¥ 3 wfEw aEm g

TR fe 400 S wEfem few w9 wfem g
WA e W IR AW o® owTm owm fam sk
¥8.50 ¥d ¥*R Poiwm ® [ Primm @ B ma
& wfafest s

What is meant by Buy-back of shares ? Mention the
conditions of buy-back and guidelines issued by SEBI in
this respect. 15

A F FE oA = R FT oA F oW ow zm
w1 # SEBI g0 W fey M fren-few fafem

12570/8,200/KD/183 2

4.

12570/8,200/KD/183 3

Explain briefly issue of debentures at par, at discount and at

premium, Pass necessary Journal entries in al] the cases with
examples., 15

.&iﬂﬁmﬂﬂ_i&ﬂﬁuﬁﬁﬂ?ﬂa
ﬁﬁ%mﬁﬂaﬁﬂﬁs%ig&mgﬁ
vafeat wifag

The debenture redemption fund of a Ltd. company stood at
T 10.050 represented by ¥ 12,000 (Nominal) investments,
The debentures stood at T 30,000 and the Company sold ¥
8,000 (Nominai) investments at T 98 for the purpose of
redeeming T 8,000 debentures at ¥ 102.

Show Ledger accounts ignoring interest.

ﬁ%@mﬂﬂ&ﬂﬁﬁﬁﬁﬂdaa_&oﬂ
N@ﬂﬂﬁi«s‘ogﬂgﬁ%%m
Eﬂaﬁa%ﬁsﬁamob%ﬂm@mﬁ&%
ﬁ&»am_oooﬂ.ﬂsiiaswﬂ&ﬁﬁw
%_ﬁmﬁ@:b%%ﬂ@mmﬂ%gﬂaom
R =)
ﬂaﬁﬁumﬁﬂ‘gﬂﬂﬂﬂamﬁe

w .
What Journal entries are passed in the books of transferor
company in case of amalgamation ? 15

ﬁﬁa&ﬁmwﬂgﬂﬂﬂ%ﬂﬂ&%m&ﬂ.
¥R et # owd ¥

[P.T.O.



7. The following balance appeared in the books of A Ltd. as at

31 March, 2016

+

Debt T | Credit L4
Building (at cost) 1,50,0001 Equity share of
2 10 each, fully paid| 6,00,000
Purchases 5,00,903 | General Reserve 2,30,000
Manufacturing Unclaimed Dividend 526
expenses 3,50,000| Trade Payables 42,858
Salaries 26,814 | Sales 10,83,947
General charges 31,078 | Provision for
Machinary (at cost) | 2,30,000] Depreciation on
Furniture (at cost) 5,000 Fixed Assets 91,000
Opening Inventories| 1,72,078| Interest on
Investments 8,544
Trade Receivables 2,32,380| Profit and Loss
Investments 2,88,950| Balance (1.4.2015) 16,848
Advance Income
Tax Paid 50,000 Staff Provident Fund| 37,500
Cash at Bank 72,240
Directors’ Fees 1,800
21,11,223 21,11,223
Additional Information :

(i) The inventories on 31st March, 2016 was valued at

T 1,48,680

.

(ii) Provide T 19,000 for depreciation on fixed assets and
2 8,000 for managing Director's remuneration.

12570/8,200/KD/183

4

(iil) Interest accrued on investments amounted to T 2,750.

(iv) Make a provision of ¥ 50,000 for income tax.

(v) Proposed dividend @ 8% after ¢ 35,000 transfer to
general reserve.

(vi) Corporate dividend tax : 20.358%.

31 T 2016 F A Lid. Ft s § e w4

Debit T Credit 4
T 1,50,000| &®a oW 6,00,000
wa 5,00,903 | W WA 2,30,000
IEEFY ST 526
o &= 3,50,000| =afE 27 42,858
LEE] 26,814 | famt 10,83,947
T T 31,078
et 2,30,000
AR 5,000| waré wefEal W
B9 F WA | 91,000
i 1,72,078 | fafam = =M=t 8,544
IRE T 2,32,380| TW-TH
fafaam 2,88,950| ¥ (1.4.2015) 16,848
fm amge K 50,000 | =® Wfag= wvE| 37,500
¥ o 9% 72,240
TR F W 1,800
21,11,223 21,11,223

12570/8,200/KD/183

5

[P.T.O.



et St .
() ofm Wi T 148680

(i) T Tfed M B F T 19000 F1 9N HEE
F 90 FT T 8000 F FENA Hl

(i) IS = T 2750 Atk ww

(iv) T 50000 MTFT & AU SRR F R

(v} JEIe AW @ 8%, T 35000 TWMN WY H
TUF H AqE

(vi) FRIRE TG F 20.358% W

8. A Ltd. Company issued debentures of T 1,00,000 which were
issued as follows :
(i) For cash at 90% T 50,000 (Nominal)
(il) For creditors for ¥ 20,000 ¥ 25,000 (Nominal)
(111) To Bankers for a loan of
T 15,000 as collateral security ¥ 25,000 (Nominal)
Pass Journal entries., The issue (1) and (i) are redeemable at
the end of 10 years at par. How debentures will be shown in
the Balance sheet ?
A fafids s 3 T 100000 69 & HUGT W TER
Eiicag
(1) 90% Tk W T 50,000 (% )
(i) 220,000 % STER H ¥ 25.000 (fFa g59)
12570/8,200/KD/183 6

(i) §FT FT TT ®

arEE wfaafs ® ®9 H ¥ 25,000 (A )
AEvTE WS WEtew (i) ¥ (i) Sem w i,
{0 =% T "W gea W wudm ¥ faed ¥ ®mo-w FY
frgmm TRN?

Discuss different modes of alteration of Share capital and
reduction of Share capital. 15

s T ¥ vhedR w s vgd ¥ wd w fafem wew
F T FIWY

12570/8,200/KD/183 7




9.

What do you mean by Induction ? What are the objectives
behind Induction Program ? Throw light on contents of an
induction program.

THET W TUF ¥ wd 27 WeAd wmm o® T ®
YT T E7 TEE v % favm w oy =fem

12572/7,000/KD/1522 4

Roll No. i Total Pages : 4

OBCM/D-18 12572

HUMAN RESOURCE MANAGEMENT
Paper : BC-303

Time : Three Hours] {Maximum Marks : 80

Note 1 Attempt five questions in all. Question No. 1 is
compulsory. All questions carry equal marks,

T FW WY WA F IR TR wwR wem | afEd 2
A WA F IF T E

Compulsory Question ( 3 ard weT)

1. Answer the following short answer type questions :

{a) Differentiate between HRD, HRM and Personnel
Management.

{b) Describe the process of Job Analysis.

(c) What is need and importance of Internal mobility ?

(d) Explain the technique of Vestibule training,

{e) Elucidate the different types of HR Planning.

frfefae afvre R & W B I Ofwe .

(%) ge TavE faum, oE SEnE ey SR Fds
TR T AW Ity wmifg

(@) FH foveym F1 yies =1 ooz =i

12572/7,000/KD/1522/Trans. [P.T.O.
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(M) st il # stevEEw ok wEm wmm A
(9) I=EE wem # qeE w1 wEemE
(¥) 5rE ¥aF o # s v = we st

Differentiate between Performance Appraisal and Potential
appraisal. Throw light on the most widely used traditional
as well as modern methods of Performance Appraisal.

TR TEiET IR WA e # d omm wih
TR A TE T ¥ @ TR e ®
TR F AW F TR | FE =)

Discuss factors to be considered while framing Promotion
policy as well as Transfer policy.

WY AT ® wu-me e Ay SR s g
fr fFu 97 = R 2 fEe e

Elaborate the vartous sources of Recruitment. Discuss their
advantages as well as disadvantages.

i # fafas | #= ofws @ T v ®
-y JEAA F O faEen i

Figure out some of the major issues and challenges to HRM
which modern organisations are facing. Use relevant
examples to support your view-point.

TS WA T F wP Y@ 9 iR R o
Y T R wmew mww ow @ ¥ e
feFm 1 W FW F faw oy wmor =
Excioiicad

12

ml

Explain the various steps of designing a training and
development program. What factors need to be kept in mind
while designing a training program.

TF T o fEEm v fomm w # o on
F EE FU TE IET Yom fesmm wR T
fF *re 1 @m ¥ @ 9m =@

Define Job Design. How it is different from Job Analysis.
Identify the factors which affect Job Design and also mention
the techniques used for job design.

e feomm = ofowfe w1 =4 fveo | 97 39
i ¥7 We feome & o w@ e wRE W
TEC FUT TY feomm # fow o suvgm Y YR =
TFAE F N Iem W

Discuss the following :
(a) Barriers to Selection Process.
(b} Evaluation of Training Program.

{c) Problems in Human Resource Planning.

frefafas = fagen wifag
() = yiFm = o ammg
(@) 7foem FEwET w1 gerE
(M) AFE TEEF A B g8

12572/7,000/KD/1522 3 [P.T.O.
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OBCM/D-18 12573

PRINCIPLES OF MARKETING
Paper-BC-304

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory, All questions carry equal marks.

T frsl dter wdi % T S | I TEm | otfed
Fowh WA B siw wme ¥
1. Compulsory Question ( 37fard o)

Explain the following :

{a) What is societal marketing concept ?

(b) What do you mean by Marketing Mix ?

(c) Functions of Packaging.

(d) “Advertising is wasteful expenditure”. Explain,

(e) Scope of Online marketing in India.
= %t = w11,

(F) fagm = s sy == &
(@) favom fasm @ w1 wfwm 2

12573/7,900/KD/927 [P.T.O.



(M ¥ B I
(%) “fagmT = =m #7, smem wRg)
(F) A | 3F o9 fawem &1 791 afrss #7

What is meant by marketing ? Discuss the nature and scope
of marketing.

farm ¥ 7= s ¥ Rroom # owER o a9
faerem wifem)

Define Marketing environment. What are its components ?

R T W Tmew i e wes T v
Eaie i

Explain in detail the concept of market segmentation. Also
explain its importance in marketing.

R faufrEEw ) fage smumon # s Fiftg)
au fauom ¥ Tee g w omemy

What do you mean by Product life cycle ? Explain its various
stages. Also explain the significance of studying it for the
marketing manager.

IR WET U W w2 TEe At W
FA-¥ ¥ TF R vEwe R Test w0 SedmE
LY

12573/7,900/KD/927 2

Explain the meaning of product mix. What factors influence
changes in product-mix ?

STE-fasr ool @AY IER-foswr § uREdR )
FH-FR F AW G )

What are the objectives of pricing ? Discuss various methods
of setting the price.

T Fuim & Reg #7 ¥ ¥ gm Pk 9 Rl
st #) = #ifmy

What do you understand by channels of distribution ?
Explain the role and importance of distribution channels in
marketing.

fm weml § o o e &) froom o8y 9
fomm o % wEw o SwEfn @6

What do you understand by the term "Retailing” ? What are
the various forms of retail organisation ?

TEE AR ¥ A w82 we e
faftmr ¥1 wW-3 &7

12573/7,900/KD/927 3
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OBCM/D-18

BUSINESS LAW-]
Paper : BC-305

Time : Three Hours]

Total Pages : 3

12574

[Maximum Marks : 80

Note : Attempt five questions in all. Q. No. 1 is compulsory. All

e

1. Compulsory Question ( 31F@Td wyw)

Write short notes on the following :

(a)
(b)
(<€)
(d)
(e}

questions carry equal marks.

w7 9 I % IR A v dem 1 st ?

T 9 # oiF gEm ¥

Cross-offer.
Champerty.
Wagering agreements.

Symbolic delivery.

Third party information,

= W oy e fafa .

() I J&==|

(@) 9’ #F4I

12574/8,600/KD/1129

(5%4=20)

[P.T.O.
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() arsfreor g

(%) e faemom)

(T) T vy gEI

"All contracts are agreements, but all agreements are not
contracts.” Elucidate. 15
vl erey TEE B ¥ w o o smaE T
TR =R wi

"Mere silence is not fraud." Explain. 15

Yo gof v T T b AR W

"Tender is attempted performance." Discuss. 15

“fafrn wemfm framee ®1Y == w

What remedies are available to a party in case of breach of
contract ? 15

s gUER w feufr ¥ TF 9WER w FA-®F W
ITER W B €2

D Zerenr e heraees e fnlom=g

& aax e Mo

What is Unpaid seller ? Discuss the rights of an unpaid seller.
15

7w frdm 7 ¥ F onw fama # ofuwR #Y ==
Ex{

Explain the doctrine of 'Caveat Emptor’ in respect of Sale of
Goods Act. 15

‘o Ty ®' ® fagle w1 Ty faww sfuPmm @
gzd ¥ =mEn w11

Explain the procedure of obtaining information under Right
to Information Act. 15

go & fver fufrm # ol gem w0 #)
wEn w1 A w




(M) =i s

() yfwEE oo

(¥F) @ ve o

“All contracts are agreements, but all agreements are not
contracts.” Elucidate. 15
‘o wEy T R ¥ o o owmm sy A
T = it

"Mere silence is not fraud.” Explain. 15

“u e e T b ah w

"Tender is attempted performance.” Discuss. 15

“fafem wefrr frsow #1Y ==l wH

What remedies are available to a party in case of breach of
contract ? 15

Fy @eed w1 feafr § @ wwR # wR-ER 3
IER WA w2

Differentiate between the following :
(a) Fraud and Misrepresentation.

(b) Coercion and Undue influence. 15
e 4 om wifeg

(%) w2 ik faearoR)

(@) I&ET 7 e wwa)

12574/8,600/KD/1129 2

What is Unpaid seller ? Discuss the rights of an unpaid seller.
15

I frmm 7= 22w aw fedwm @ afyEn #H ow=
Fi|

Explain the doctrine of 'Caveat Emptor' in respect of Sale of
Goods Act. 15

'w WA ® % fagm w1 Ty faww afufem @
e § = w1

Explain the procedure of obtaining information under Right
to Information Act. 135

o & afywr Sfufas ® sl gEa W= w0 #)
hEa A1 v #R)

12574/8,600/KD/1129 3
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OBCM/D-18 12575

FINANCIAL INSTITUTIONS AND MARKETS

Paper : BC-306
{Group-I)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, Question No. | is

compulsory.

T ;. T ufe W ® IR A g mem | sfEd )

1. Compulsory Question ( 2@ uw)

Answer all the following :

(a) Explain the difference between Money market and
Capital market.

(b} What is Gilt edged market ?

(c) What is Book-building ?

(d) What are Open market operations ?

{e) State about Asset Management Company {AMC).

(5%4=20)

ey st = 3 S

(F) 97 FER JAN YA TOR H TR FARY

(@) goER TER ¥ §W Hhwm 32
12575/1,100/KD/1644 [P.T.O.

13/12



(M T% fafeen = &7

(9) S 99R F7 WHEad wm #
(T) T=afy 7o w9t % aR § =

“Financial markets and Financial institutions play an
important role in financial system.” Explain. 15

“faa T qen fadm W, fadta worel ® wee
gftmm framt ¥ =0 P

Explain the various constituents of Organised and
Unorganised money market in India, 15

e ¥ Hfea qur swnfen o aOR & fR wes &
o7 Fifww

What is Stock Exchange ? Explain the characteristics and
functions of Stock exchange. 15

IR TR F B7 T IR F HRTe qen w1 w1
TR wIfE

What is SEBI ? Explain the various guidelines for the Public
issue of shares and debentures. 15

T ¥ o o &2 o W@ wmUe ® SRt
frimm % gafaa e o & 9] 8§ s ew

What are the various methods adopted by Reserve Bank of
India to control credit ? 15

T e ¥ o Tw frem $ fim swEm s
T fafi= 3o w1 &7

12575/1,100/KD/1644 2

7.

What do you mean by Commercial banks ? Explain the
functions of Commercial banks, 15

Ffnfras d9f ¥ T sfe ¥ Tiffas ¥ ® @
F1 TR wifsm)

Write notes on the following :

(a) National Bank for Agriculture and Rural Development.
8

(b) Export-Import Bank of India. 7
Freafafae w fomrt fafan .

(%) ¥y qen oo fawm o< )

(@) wdg smm-fafe §5

What i1s Mutual Fund ? Explain the various regulations
regarding Mutual fund. 15

TEAF ®N T OE? UNSE FN @ watem fafi=s
e 1 aviR S

12575/1,100/KD/1644 3



Write notes on the following : Roll N Total Pages : 4

(a) Advertising and Consumer Behaviour. OBCM/D-18 12577
{b) Relationship with Clients and Advertising Departinent, ADVERTISING
fretfafan w Rt ferfa Paper : BC-308
(%) faF9T au1 39T IR Time ; Fhree Hours] [Maximum Marks : 80
(73) Ul a fawrm fasm ® @ ge Note ¢ Aitewnpt five questions in all. Question No. 1 is compulsory

which comprises Short Answer Questions of 4 marks each,
siswer to each question should not be more than 1 page.
{a) Social and Ethical Aspects of Advertising, Candidates ate required to attewnpt four questions from

Write notes on the following :

remaining eight questions carrying 15 marks each,
Az omA afm oy B IR A w wem | afed $

faud om] 390 999 & a0 wA% WWT 4 5F w7 R,

RISE e o Bt LB - D i
(") faema 9fwar : o e el YT oE W 4 W fERf we owv ® Im
Ao, 9FTE W 15 HF F R

(b) Advertising Process : An Qverview,

frafafaas w fromh fafag .
(%) frm # wafss a0 i =g

1. Compuisory Question { 2=t 9y7)

Sttt Answer Questions ;

ar Define Advertising and Explain the Scope of
Vdvertising.

tby iiiscuss the Economic Aspects of Advertising,

(€)1 «plain the term Green Advertising,

6y oplann the difference between Advertising and
Pl ity

¥ '

(&1 Toodain the Legal Aspects of Advitising.

PASTT A AN GRS + L23THO 00 D Ve I rans. (PO

1342



12577:6,500/KD/963

Y ITE T

(F) fare # TR A A e F AR
AU

(=) frem @ afE TS A e wif

(M IR faRE W w gummna

(7) fyamm qen TER F fw W | wEEEy

(%) famm ® A wrgel ® |EEEy

What do you mean by Communication? Explain. in detail,
Communication Process.

Har § o ¥ oAwwR ¥ w9 wEwm o+ famR |
TR

Explain the following :

{a) Encoding and Decoding of Message.
(b) Advertising Mix.

frefafage =t oo .

(F) B89 ¥ TARNET ° fEHfEn (Encoding and
Decoding)

(@) fagman fagm

[

Discuss the following :

(a} Creative Aspects of Advertising.

(b} Advertising Objectives.

frafafad %1 991 Hifag

(%) faRmm ® wAeEE Tl

(@) faared IXEa)

What is Advertising Budget? Explain, in detail, various steps
involved in preparing Advertising Budget.

fagrm wwz w7 &7 fawmen w9 = H owine fafas
T w faRER ¥ wwmy

Explain the following :

(a) Advertising Media and its different Types.

{b) Media Planning and Scheduling.

frefafan 1 9wy

(%) famrm difem o wow fafo= wEw

(w) fasmes Ao A qHI- RO

Discuss, in detail. the Process involved in measuring
Advertising Effectiveness.

T guTEIReE ® W9 § wEe wiwaes #1 e
| gl Py

12577:6,500°KD/963 3 [P.T.O.
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OBCM/D-18 12580
COMPENSATION MANAGEMENT
Paper : BC-311
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory. Attempt four questions from the remaining
8 questions.

T . @ o T ) A v 1 afEd doww 8 e
¥ ¥ wr v @ I A

1. Compulsory Question ( 31aETd wo)
Write short notes on the following :
(a) Objectives of Wage Administration.
(b) Minimum Wages.
(¢) Limitations of Incentive Plan.
(d) Voluntary Retirement Scheme.

(e) Team Incentive Plans,

= w e o
(%) Tgd wWrET S

(@) =rom wgdi

() SR G w EE)

12580/150/KD/1893 [P.T.O.
17712



(x) difegs da-frgfa oM
(%) THE WeaEd Al

What do you mean by Compensation 7 Explain its
components. (7+8=15)

gl ¥ o own T ¥ ww PR wem W

e

Discuss the steps to be followed in designing Salary structure.
15

imy wee § afwRm whe SO @ oAU w

Explain the different theories of Wage payments in detail.
15

Tl e i syl @ frmm 9 ==

Exd

Explain the recent trends in conpensation management. 13

%ﬂﬂ%%ﬁﬂji_

What do you mean by Incentive Plan ? Explain the different
types of Incentives. (5+10=13)

e Ao @ o Fm owEw ¥ fafim wR ®
Sreaneal w1 Ao W

Write short notes on the following :

(a) Tax Planning.

(b} Performance Related Pay.

(c) Compensation Policy.

12580/150/KD/1893 2

frr w e e a7

(%) ¥ TR
(@) FH-freed safE &
() exfegfd A

8. How the compensation of Directors. Chief Executive and
Senior Managers is fixed ? (54+5+5=15)
frvrHl, TET awEE Ao AfS wERE w1 et
e 39 fra W #2

9. What do you mean by Equal Remuneration ? Explain the
various provisions of The Equal Remuneration Act.

(5+10=15)

TR TREEE ¥ oW F owHE ¥ TR TRsEE
Affpm 3 A TEuE oA R

12580/150/KD/1893 3
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BCM/D-18 12587

COMPUTER APPLICATION
(Programming in C)
Paper-B(C-305

Time : Three Hours] [Maximum Marks : 60

Note : Question No. 1 is compulsory. Attempt any four questions
out of remaining eight questions,

M : T e | fEd Y o v § R wR-g
AR WA ® 3w A

1. Compulsory Question ( 3rFETd wyw)
(a) How many keywords in C Language and write at least

Five keywords of C Language 2

(b) What is range of signed character and signed integer
data type of Turbo C Compiler 2

(¢) What do you mean by Unary Operator and write at
least two unary operator. 2

(d) What do you mean by Logical AND operator and write
its application. 2

(e} What is switch statements and write its syntax ? 2

(f)  What do you mean by pointer and print address of
integer data types. 2

12587:1,700/KD:/1526/Trans. [P.T.O.
13/12



(FCum ¥ fFm wady T ¥ ao ¢ 9w B
FU-8-F9 5 wdq ¥ fafgw)

(@) zd W FugeR ¥ wafE TR o renwiE
ite 3T R F W w2

(M TR AR | 39w FN I a0 FH-J-F7
T HR F fAfEn)

() dfeEs urE SR @ o w®n oaftwg & oA
WE TwEm = fafa

(¥) forg =o@ = } 7o TR W fm W fafaw

(3) Tt T TR B gEF o i W ¥ e F;
stfsmg %2

. What are literals and write literal for different data types.

12
wiew 1 ¥ q R 2@ weR @ feu wtew
fafaa)

. What are different relational operator and write a program

of using two relational operator. 12

fafi gaywE = w1 # qw @ YEuTmE o=
F I = TE W fEfEw

. What do you mean by looping statement ? Write a program

toprint 1,2,4,5,6,7, 8,9, 10. 12

8,9, 10 § fiz v ¥ fouw ™ wum fafam

12587/1,700/KD/1526 2

. Write a program to print sum of 100 numbers in C Language.

12
C W ¥ 100 Wemeh ® d4m w g W % fom uw
v fafag

- What do you mean by Array data type and print transpose

of matrix of MxN order ? 12

T T THR T MxN TR 3 Hfsw wfeds # fi
FE G A9HT F;oAd 12

. What is function and write syntax to print factorial of any

number using function ? 12

TRE ¥ A ¥ W TRE ® IWEm w0 e s
TR ® A w e w3 fan a-feam fafa

. What is use of structure data type and write syntax to declare

structure of integer and character type. 12

T W TER F I[N T R qwn poiw ol wEm
YR H g GEA ® fou aren-fa=ma fafae ?

.  What is file handling and write functions for opening file

and read data from file. 12

FEA HEEE ¥ T ¥ oqur v @R R wed 9
W v ® fow w oH fafaw

12587/1,700/KD/1526 3



Roll No. ..ocvviiiiininninn. Total Pages : 3

OBCM/D-18 12588

COMPUTER APPLICATION
(Fundamentals of Data Base System-I)
Paper BC (Voc)-306
(Old Syilabus)

Time ; Three Hours) [Maximum Marks : 60

Note : Attempt five questions in all. Question No. 1 is compulsory.
All questions carry equal marks.

A2 ;. FA ey # IW Y v G 1 ofed d ad
v ® % we ¥

1. Compulsory Question (3fWard www)

(1) Explain Candidate key.
Candidate key %! =1 F

(i) Explain two objectives of three level architecture.
fa Wiy agFer & T WS F = wW

(ili) Explain Multivalue attribute.
Multivalue o1 ¥} =R H

(iv) What do you mean by Physical Data Model?
%% Data Model & 39T F fumrg #7

{v) Explain BCNF.
BCNF #! =l #<

(vi) Explain elements of Database system.
Database system F g w s $i

12588/1500/KD/2062 {PTO.
1712



2. What do you mean by information. What are the
characteristics of information ? Differentiate between Data
and Information.

TER W s F SN R weeT w v
Ty 2 o AAEE # HH aRR wam)

3. Define DBMS. Explain its various functions.

DBMS = sfonfeg w8 v w9 s =3

4. (a) Explain schema, instance of schema and types of

schema.

Schema, schema ¥ T 3R schema F TFR F
T FL

(b)  What do you mean by data independance?

Data a9 ¥ U T oNSTW 37?

5. (a) Explain Network Model and its functions.

7% HiEd IR I9F TR F o= 3N

(b) Draw ER Model from Hospital Management System,
A FHET WSt ¥ ER Diagram ¥

6.  Explain various types of keys used in Relational Data Model

with example.

IR WA Relational Data Model § ITM ¥ 91 aToh
fafi= TR #7 keys # =M W)

7. Define Normalization and its types.

Normalization 3R 3% ¥FR = Ta)

12588/1500/KD/2062

2

(a} What is functional dependency and Fully functional

dependency 7

Functional dependency iR Fully functional dependency

F qfoafea =4

(b) Describe various types of anomalies in a data base.

Data base ¥ = wr =t fadnfaaf +1 avis =¥

Write short notes on

(i) Super Key.
(ii) Relation.
(i) Attribute.
(tv) Entity.
wiara iz fod .
{i) Super Key.
(ii) =Y

(iif) farevoam

(iv) |

12588/1500/KD/2062

3



Roll No. i Total Pages : 3

OBCM/D-18 12591

PRINCIPLES AND PRACTICE OF INSURANCE
(Fire Insurance)
Paper-BC(Voc)}-305

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory.

A2 ;. wW ulE w1 w1 I G W wem 1 shEE R
Compulsory Question ( 31Framd wyw)

1. (a) Principle of Indemnity.
(b) Acceptance of Proposal.
(¢} Average Policy.
(d) Arbitration.

() Double Insurance. (5x4=20)
(%) wfagfd =1 fagm

(@) wEaa H @l

(m shwm fw =

(9) ey

(¥) T i

125981/150/KD/185 {P.T.O.
13/12



2.

Y Describe the procedure of effecting Fire Insurance Policy.

4.

5.

a-

Discuss the Essentials of a Fire Insurance contract. 15

I fim 2 ar = B P s

15
afm et wa w w fafy w oavis wfw

State the procedure for making claim under a Fire Insurance
Policy. 15
#E @ et ® ol T FE w0 fafy s B

What is fire Insurance Business ? What are the Tests of ‘Fire’
in Fire Insurance ? 15

‘ot i I RS wEd ¥ afw A o o ®
| T #?

State the process of Rate-making in Fire Insurance. 15

T A e w e TR # wiee T

\.\33 Insurance is a contract of Indemnity and good faith”.
. Explain. 15

“af A afrfd qa wx-favam w1 osrEr 1 =T
o)

12591/150/KD/185 2

Explain the condition related to ‘Exclusion’ in a Fire
Insurance Policy. 15

IR dm o N o W F Twme oW e ®
Tt &2

Describe the physical Hazards in Fire Insurance. 15

A W wferlt 8 i 9w # 3ol #ifm

12591/150/KD/185 3



9. Explain the following terms in up to 2 page length each.
(a} Standard non-forfeiture law,

(b) Reduced paid up values.

(¢} Compound interest functions and insurance premium.

frafafes & & | v@F # 2 U= ¥ S gEEng
(%) 9% AR FH

(@) THFT T T
(M) Twyfs = g3 qon d@m Afwem)

12592/250/KD970 4

Roll No. v Total Pages : 4

BCM/D-18 12592

INSURANCE, FINANCE AND LEGISLATION
Paper : PPI-BC-306

Time : Three Hours] {Maximum Marks : 80

Note : Question No. | is compulsory. Each part of this question
carries 4 marks. Attempt four more questions out of the
remaining questions 2 to 9 carrying 15 marks each.

A . T AEw 1 aPrEd ¥ oA e T M 4 3w
FRN AT ER WA IN WA TS 2 A9 T
¥ ¥ ffaw v 9w 15 3% W 2

Compulsory Question ( #T&ry wvT)

1.  Write down 1 page notes on each of the following :
(a) Application of Laws of Probability in Insurance.
(by Surrender value of Life Insurance Policy.
(c) Mode of periodicity of premium payment.
(dy Margin adjusting.
{e) Automatic premium loan.

frafafas voe | ww TS w1 wg fa@feu .
(F) o witsa + fram =1 3939
(@) S " T W oaRe e

12592:250/KD/970/Trans. [P.T.O.
17/12



(M WEw gmam # sAfUEwS w1 oaE 5,
() AR FERE|
(F) @a: Wiam wm

Explain meaning and procedure of calculation of Level
Premiums. Also explain methods of loading for expenses to
net premium in insurance. How expenses are distributed over
the period of policy?

e fiftaw =t ToE w1 e e fafy v € R

2. 'The Mortality rate can be ascertained by the mortality table'. . L N
Comment. Also explain how mortality table is constructed? @ Mm% wE F fa w@en #@fGhe owof
T T T T T p——_y wREwl dfet ® aefu ® e w= # w9 faafa
feopl wifow) 77 @ wwwmy fr 99 W afes few AR
Th ?

T ¥ 6. Define the term 'Reserve’. Explain its sources and importance
in life and rty i .

3. What are the various factors affecting the calculation of If e Anc property Insurance
premium of an insurance policy? Explain the procedure for ‘fiod' T #I TREEU e qon gufs o ¥ 9e Wi
calculation of premium for life insurance policies. U HEAE 1 THART
™ 9 it = fifem F oo = ogafae w6 9w
fafw= o = &) Wew dW o @ T S 7 U_QMHME_WH between wnﬁﬂomnﬂo”_<n M_soﬂmoa and T_.wm.voﬂ:m

Y = method of reserve computation under Group policies an
# id it ! Single policy.

4. Explain the following with example : wgz et qu Fe dfedl & TEe emiwa o &=
(a} Net single premium and Gross premium. gt fafy gur waifam f&fy 2 9 am = =i
(b) Mode of claim payment. . .

. 8. Describe the bases of calculation of Surrender value. In what
frafafes 1 ST st s forms the policyholders can get surrender value?
(F) F THa Wirs o wwa fifvem) T YeA W OO F MW F oavR wfe e
(@) T TR w A v fFR w9 % Aoim O ww W wEe 8
12592/250/KD/970 2 12592/250/KD/%70 3 [P.T.O.



(8)

Direct wages 4,000 6,000 8,000
Production overheads 4,000 6,000 8,000
1000 units at Rs. 6 per units were

Introduced in Process [ 6,000 - -
Qutput (units) 950 840 750
Normal loss 5% 10% 15%
Scrap value {per unit) Rs. 4 Rs. 8 Rs. 10

15
I X« fafme sRparell & A 9 11 §R T 3 9Ed
o T S 81 e FreafaRad geen 8 o @, g
BT @I, STETIRET &M S o TR A @R 97 €

g 1 gfear I sfear 110

4. 6. G,
| , 5,200 3,960 5,924
T gl 4,000 6,000 8,000
ST IR 4,000 6,000 8,000

aierr 1 H 1000 3934 65, W
I g @ W 6,000 ~ -
ATTGE (FB1%) 950 840 750
TR BT 5% 10% 15%
e g9 (IR 39E) 5.4 5.8 5. 10
15

12595

RollNo. ................. 12595
Printed Pages : 8

BCQ/D-18
COSTACCOUNTING
Paper-BC-501

Time allowed : 3 hours] [Maximum marks : 80

Note : Anempt five questions in all. Question No. 1 is
compulsory.

e : FT 9T goT Fws g q. 1 e 2

1.  Compulsory Question : 5x4=20
FHiard g9 -
(a) Explain the signtficnace of Cost Accounting to
Management.
ydeq % WU @ d@iEd b qed & e #
(b)  Describe the causes and Accounting of overtime wages.
YT TEH & BN A9 q@IH B A9 Do |
{c) State the methods of accounting and Absorption of office
and administrative overheads.

T o qendie Suledt & dgiET a9 STy
% Rigt 71 S Ak

(d) Explam the meaning and features of contract costing.
3 arm FrERer % ol qen faRanelt i arer |
(e) Givethe meaning and purpose of Log Book intransport
costing, _
IiEed arm fERe § dF-g% 3 Ad T @ B
EGiE

12595 [Turn over




(2)

Define Cost Accounting. Discuss the objectives and methods
of Cost Accounting. 15
AR AWIHT A AR AR AR AwiET SR
fafeat i foR=aT ikt i5

(@) PQR Limited produces a product which has a monthly
demand of 52000 units. The Product require a
component X whichis purchased at Rs. 15 per unit. For
every finished product, 2 unit of component X is required.
The ordering cost is Rs. 350 per order and the carrying
costis 12 percent p.a.

Required :

(®  Calculate the economic order quantity for
component X

() Ifthe minimum Lot size to be supplied is 52000
units. What is the extra cost the company has to
INCur. |

(i) What is the minimum cost, the company has to
incur

(F PQR s s IR #1 9 oear @ fras i
AT 52000 ST €1 O & UF Ted X F e
Bl & P 5. 15 9 g W Ee AR 2 9 S9N
IR # U gew X3 3 R B smw o
AR A A AT 5. 350 ofy oM ¥ T A

- 12% R o B)
CIEERET
() wew X & fom Predt smeer wEr @1 o i)

12595,

(3)

@ IR F TN o wuR = oA 0 e
52000 s B, @ sfafe ama w0 et R
T F G FAT G 7 \
() FH R T B are ad e @R 7
(b) Explain the factors affecting size of Economic order
Quantity. 9+6
(®) ool ondst 9 @ TR B 9 FE AR IR
P AT T |

Give the meaning of Labour Cost. Explain the composition and
control procedure of Labour Cost. 15
99 AFIE F Y FAET | HW GG FOGTE P gk
F A Hf

For a certain work order, the Standard time is 20 hours, wages
Rs. 5 per hour, the actual time taken is 13 hours and factory
overhead charges are 80% of Standard time

Set out a comparative statement showing the total wages
paid, Employer total savings and effective rate of Eaming per
hour according to
(1)  Halsey Premium System
(i) Halsey Weir Plan
() Rowan Incentive Bonus Plan 15
el ffad @ ey % R, o e 20 692 8, ool 5. S
uiy 52 2, awg A R o w13 9 ¥ qw swam
SR TAR AN TG H 80% i

12595 | ~ [Tumover




(+)

() = S o

@) e ST qeE

Gi) o NeGEH I A

gy a7 79T g O U fer omEfm i 15

What is meant by Absorption of overheads ? Discuss the various

methods of Absorption of factory overheads. 15
ST I SURed A AR 8 7 HREE Uk &
srasier @ fafw=r fafwt @ Eser i 15

The following particulars are obtained from the Records of ABC
Lds for the year 2015 :

Rs.
Cost of Maternal 1,50,000
Direct wages 1,25,000
Factory overheads 75,000
Administrativeoverheads 84,000
Selling overheads 56,000
Distribution overheads 35,000
Profit 1,05,000

A work order has to be executed in 2016. Which will need
raw materials worth Rs. 4,000 and wages 2,500. It is expected
that the rate of factory overheads would go up by 20% and

12595

(3)

that of selling overheads by 12%:%, while the rate of distribution
overheads is expected to go down by 10%. Administrative
overhead will remain constant. At what price product be sold
so as to earn a profit of 15% on selling prices. Factory overheads
is based on direct wages and remaining overheads on factory
cost. 15

a§ 2015 % fBm ABC fr. 3 ofyat & Fr=faiaa [ater o
BE

5.
sl P A 1,50,000
P L 1,25,000 .
FHEHAT IAT 75,000
ERITEC N E D _ 84,000
famg Iuitedm 56,000
foreer Jaea 35,000
KK 1,05,000

oF 1 SR #2016 § fremf v & R 5. 4,000
A a6, 2,500 # Aol @ sEvaE & | 7 onEe 8
5 BrREE SuR@d T 20% T el Sufem 1214%
} 7 AN, s fawer soerd @ W 10% T AN @
s ¥ gerERE Suer R ©) R T W OIOR &
Y o e AT T W 15% W oars A 8w
Suftey SEd A W oI & qdT 9 SURerd FREr
T 15

12595 | [Turn over
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(6)

XYZ company closes its account annually on 3 1st December.

No. 165 commenced on 1st April 2016. The costing

Contract
records show the following information on 31st Dec. 2016.
Rs.
Material Issue 24 000
Wages 45,000
Qutstanding wages 2,000
Office Expenses 4,000
Foreman Salary 5,000
Direct Expenses 10,000
Sub contract costs 3,000

A machine costing Rs. 16,000 had been on site per 146 days.

orking lifeis estimated at Five years and its scrap value at
p.m. has spent

Itsw
Rs. 1,000. A supervisor who is paid Rs. 1000

one-half of his time on this contract.

Material at site on 31 Dec. 2016 was Rs. 3,000. The

contract price is Rs. 2,00,000 and 2/3 of contract was

completed by 31st Dec. 2016, Architect had issued certificate

covering 60 percent of contract price. 80% has so far been

the contractor. Prepare contract Account, working
15

received by
Progress account and Contractee’s account.

XYZ F Swﬁﬂ%gﬂsﬁaw@&ﬂﬂ%w,
3 9. am;%ﬂwoa%%m@fﬁgmoa&

12595

(7)
e Frefer st Frefefes e o €

e e =
nq_mm@ 24,000

45 000
Hﬂﬁﬂw_ﬂwﬂ 2,060
N . 4 000
S — 5,000
S0 35 At 10,000

3,000

T, 16,000 @@ @ oF A 146 B &

i g fom T qv ot
Wﬁ%ﬂwﬁﬂ%%ﬁﬁﬂmﬁc@ﬂmﬂﬁ 1,000
| U B 5. 10000fy o feaT 8, A @ W
A HHY F A @ fpar ¥ |

31 Regat 2016 & &= | 8. w“ooo&gﬁ%%ww
P g . 2,00,000 & T4 31 Refaw 2016 7F 3% 7 273
& T 7| 3R N FG a% 80% M TE 2| SE @R NWM
TR T q SHET @R JHET | | 15

9. Preduct X1 1 1
t X is obtained after it passes through three distinct

] , )
MH ocesses. You are required to prepare Process Accounts
Owndm_ Less aceount, Abnormal Loss account and Euno_.zsw
naccount, from the following information :
Process| ProcessIl 138% [
Rs. Rs. Rs.

5,200 3960 5.024

[Turn over
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Printed Pages : 3

Time alfowed : 3 hours]

BCQ/D-18

ENTREPRENEURSHIP DEVELOPMENT

Paper-B(C-502

[Maximum marks : 80

Note : Question No. 1 is compulsory. Attempt any four

e :

1.

(a)

(b)

(c)

(d)

(e)

questions from the remaining eight questions.

g gegr 1 oigrd &1 9 o g § @ #E 9 59T
e i

Define entreprencur. Differentiate manager from an
entrepreneur ? 5%4=20
Sl 1 qRAiRE F ) UF U/ TEeaE & S S
T P

Discuss the functions of entrepreneurs in economic
development.

Y fawm o Suimt & et & e #ifm

Define and discuss the social and psychological need for
entrepreneurship 7

RLGE ME S U L C A I S G ) I B SR G e
i i dar fadsr iR |

Write a note on financial feasibility analysis.

ferdir sgerr fasaser ot oF feaf fefg)

List out various financial incentives available for any
start-up ?

el w0 a9 & forg Iueren fafws fa<ha et & gE=s
AT |

12596 [Tumover
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(2)

Define Entreprencurship. Explain various methods to start onc’s

own business. 15

Jatiar & giemite $fo ) o =Y W FEEE ey =Y B
fere fafya RftEt #t e Ao

“Entrepreneurship is the cause to which economy is the effect 7
Discuss this statement in the light of economic contribution by
entrepreneurship activitics. 15

‘SR FT ® e gam srdlegeen 7 Sufiar ARt g
¥ AR B T ¥ g Fud @ A At

Definc tirst generation entrepreneurs and lifecycle of a new
business. Also discuss the reasons for entrepreneurial success
and failures. 15

Yepy Wigt & It q up U FagE B ofed-9% @) g
P | TPl TR qu SAGwarel & R S &) R 9
P |

Discuss the role of government as a support system to promote
entrepreneurship. 15

AR % 9T % 0 0F w9 ToTE B 59 § wRaR @ i
P! e #ifu)

Discuss various short-term and long-term sources of finance
available for nascent entrepreneurs along with their merits and
demerits. 15

T Teitdt @ fre S B & T ST aen S
Aa B A= $Ho

12596

Q'

(3)

Discuss the remedies for entreprencurial failures and ways to
overcome them. 15

ST SEBETST 9W 3R F S B SUE & U SuERl &
fareAT it |

Define Feasibility Study. Discuss the need and importance of

conducting feasibility analysis to an entreprencur. I5

TR AT il FIR) um el 3 e sgerar
fasoer 37 B TS TYT Hed F R HIHNT |

Write notes on following : 3x5=15
e w@ feafmar @i -
(a) Entrepreneurship Development Programmes
REILGINGEA R
{b} Demand analysis
i fageryer
(c) Sources of finance for business.

AGEY B A

12596




(4)

X & wepel w1 @ 2 N ge @i Y 2 3m oA 2 A
2016-17 % fw 39 &5 9@ & d49 § B A 4

L9hE 11 9

z 2
TRUNAE s 4.000  10.000
SR 5.000  12.000
: 500 1500
100 200

TR RO S U, R MR s 3.0000 15.000

T $E 2,50,000F 81 X A gEE AR i o8 aeea

6.  Explainthe following :
(1)  Capital Gains 10
(i)  Costof Acquisition of capital assets. 3
= &l mﬁﬂ._mw :
@) o e
() Of e oo A

7. Whatdo youunderstand by aggregation of income ? Explain. 15
A H TFET A A G E 7 A FH

8. Explain the provisions regarding set-off of losscs while
computing the total income. 15
FA A A T & et g weel ame #
A |

9.  Write short noteson :
(1) Income from lottery 7
(1)  Profitorlosson sale of securities. 8
Bl i fafag
(i) @l A s
(i) weedt 3 g o ae-a

12597
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BCQ/D-18
INCOME TAX-I
Paper-BC-503

wed o 3 howrs] [Maximum marks - 80

Question No. 1is compulsory and answers to each part

of question no. 1, should not he more than

One page.

Attempt any four questions out of remaining eight

questions.

e . FET G@T | sifvard & qur wew 497 @ 997 o g 7
i T 8 9T 9nE gyt F d T a0 757 a5

(1v)

(v)

What 1s Income Tax ?

TR A 2 7

Write a short note on agriculture income.
B HF T Hiea el fofa

Explain in briet ~ Deemed Assessee™.

AHY T A 2 FEE ALY
Distinguish between Gross Total Income
Income,

THA FF A 9 EHW AE R i

and lotal
4

Distinguish between Tax Planning and Tax Evasion. 4

F¢ AT 3 &7 agd=m 4 oY gy |

12597
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2. Pnumerate any fifieen items of mcome which arc totally

exempt.
mwﬂwmiﬂﬂ&%ﬁﬁ@%ﬁ@ﬁ%_

3. Howisresidence of assessees determined under Indian Income
Tax Act-1961 2 Briefly explain tax incidence. 15
WRAE A S 1961 3 HIAR HE fardm e

4. Mr Jain who is employed as Mistree in a factory at Kanpur
and is covered by the Payment of Gratuity Act, 1972, retired on
31st December, 2016 after complete 34 years. At the time of
retirement the employer paid him a gratuity of ¥ 1,02,000 and
his accumulated balance of recognized provident fund T60,000.
Heisalso entitied to a pensionof T 1500 p.m. He commuted
his half pension and received on | st March, 2017 the commuted
value of pension amounting to ¥ 67,500. On the basis of the
following information compute his taxable salary for the
Assessement Year 2017-18, assuming that salary and pension

are due on the last day of the month -

Basic pay ¥ 31,500 (% 3,500 p-m. for 9 months), Dearness
Allowance ¥ 15,300 (T1,700 p.m. tor 9 months), Bonus
34,000, Project Allowance ¥ 3,000. House Rent Allowance
T 700 p.m., paid rent at T 500 p.m. for 12 months, employer’s

¥

and employee’s contributions to recognized provident fund
< 4,800 each. . 15

12597

(3)
Eﬂwﬂ%wﬁ&mﬁ;ﬂmﬂﬂﬂm@mﬂdwmf
AT SRR, 19723 s 9 B, 31 B, 20169 34
ﬂ&mﬁm&@ﬂ%ﬁkﬂﬁﬂﬁaﬂwwﬁﬁﬁﬁsﬁw
B T R T 3R 1,02,000 3 T § FU 60,000 T
E@Eﬂ@w&ﬁw&ﬁmm%q&_ﬁ_uoowﬂ@ﬂmﬁ
iw&%ﬁa&w_%%&%ﬂ&@wﬁdﬁwﬁh
mo:ﬂgﬂ&%mﬂm%ﬂ%ﬁﬂmwﬂw.ﬁuﬁﬁﬂ
ﬁw_ﬁﬂ?ﬁ%wﬁ&ﬂ-waﬁﬁwo:éw?
IR I B AR T FT-A IAT F T G
%ﬁuu_,mooﬁm,mggﬂﬁm@ﬁéﬁii
a.m%ﬁ:%ﬁ@qamoﬁﬁy%ﬂf%oﬂ%%.ﬂ
.ﬁlb%ﬂﬂﬁqgﬁﬂq%&%ﬂa@%w%ﬁ&
femm a 12 AT N FRvE &, i diadve wey § P
T HHE S W SR T 4,800,

o

s, Mr. Xisthe owner of two houses which he uses for his residential

purposes. He submits the following information in respect of
these houses for the previous year2016-17 :

I1House II House

< T
Municipal Value 4,000 10,000
Fair Rent 5,000 12,000
Municipal taxes paid 500 1500
Fire Insurance premium 100 200
Interest on loan taken for the construction _
of'the house 3,000 15,000

His other incomes are T 25000 Advice Mr, X which ro:mm.rn

should opt for self-occupation concession. 15

12597 [P.T.O.
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Printed Pages : 3

Tome allowed : 3 hours]

BCQ/D-18
COMPANY LAW-II
Paper-B(C-504

[Maximunt marks » 80

Note : Attempi five questions in all, Question No. 1 is

1.

(1

(i)

(i)

(iv)

v)

compulsory and carries 4 marks for each part. Attempt
Jour more questions from remaining eight guestions
carrving 15 marks euch.
FT g gea & FoT afm gy qear | afyard & frd
T G % 4 3F &) I oS 7e T F & qI AT AT FT
9% 997 15 3% # 2

What is Register of Members ? 4
Tt F ey e § 7
What is meant by Depository System ? 4

T fown B o oad 7 7

What do you understand by Proxy ? 4

Ai-JET A SR @ T 7 aTe § 7
What is payment of Dividend out of Capital ? 4
9ot & @ @i w0 T e g v

What 1s meant by crystallisation of a Floating Charge ? 4

oUW B fedfimier 8 @ 3w 27

.—. 12598 _ [Turn over



Define Member. How docs a person become member of a
company and also state the rights of members ? 15
o F URAT SR | O ST B w0 aeey B8 /W ek
E O TEE B ey o g ?

What arc the restrictions on the appointment of directors in public
company ? Discuss their qualifications and disqualifications in
respect of appointment, 15
s et & FeeE A PR T e 3 ? R
% e A I A ud ot e |

Define Company Secretary and state his liabilitics. 15

FE gfag & ufarg AT w6 aEs e aded |

What 1s an Extra-Ordinary General Meeting ? By whom
can it be called 7 What are the legal provisions regarding this
meeting? 15
SRS AT A R e € 7 38 I oo &kl 2 7 e we
% ey § Ay ogem gy ¥ 7

“No dividend can be paid, otherwise than out of the profits of
the company.” Discuss. IS5

“Pig A HrHS HE S A B T (B 37 e A
for o1 TFar 1 e $ifTu

What do you understand by winding up of a company ?
Distinguish between member’s voluntary winding up and creditor™s
voluntary winding up. 15
O B WA F A9 N gHET ¢ 7 acel g ORed wme
q97 ofFERT J UPESE gAOE § S i |

12598

8.

(3)

Explain thc meaning and different modes of amalgamation of
companics. State the statutory provisions and procedure
regarding amalgamation. . 15
B B UHET Bl S G TG TIR AT FIO | ST
2 Hwie wagr @@ gk f e

Distinguish between Mortgage and charge. Which charges are
required to be registered under Companies Act 2 What are the

consequences of non-registration of such charges ? 15

g Ud TR § ST ifu e i 3 ool R
TART B S SN H SavgeRdt & ¢ g9 WA A W w6
U7 F H g € 7

12598
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Printed Pages: 3
BCQ/D-18
MATERIAL MANAGEMENT
Paper-BC-505

Time allowed : 3 hours] [Maximum marks : 80

Note : Question No. 1 is compulsory. It consists of five
questions of 4 marks each. Attempt four questions from

the remaining eight questions carry 15 marks each.

e wT e ] IR &1 5 757 35 W 9o 50 9T 4 G
F &1 9 2 ge] F 8§ B v msT B T A0 A B adm
qe7 15 3 7 &y

Compulsory Question (% e)

1. Write short notes on the following : 5x4=20
e o7 @y e feg o 5%4=20
() Total Quality Management

T T
(i) Standardisation and Materials
qurdiETT @ |
(i) Value Analysis
L CEELL
(iv) FSN analyses
FSN Rsagy
(v) Inventory Control
Ty fgaer

12599 [Tum over
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(2)
Explain the integrated concept of material management in detail.
15
A g @ BERRET AT @ R § FEEE 15

What is Material Requirement Planning ? State its merits and
demerits. 15

e aEeEE A T g wmmwmﬁqﬁﬂ.mﬂﬂﬂmgm_ 15

What is Value Analysis ? Discuss various techniques of value

analysis. 5,10
e P 0 7 v R & AR aedE @t e
. 5,10

What do you mean by Stores Layout ? Explain various factors

to be considered while planning stores layout. 7,8
e e & o ot ¥ ¢ P St e g e A
3 Pf g & &= § @ AR ? 7.8

What are ‘FIFO’ and ‘LIFO’ methods of pricing of issue of
materials ? Explain with the help of suitable example. Which of
these methods would you recommend under conditions of rising
prices 7 10,5

‘R T @ WP ot AR ¥ o e e we Prfme @
mmﬁwzqsﬂwmﬁaq&qamﬂﬂ@awaM#wqmaﬂqmm_mﬂqmmw
£ Ry § o @ & @ A Ry A freiw B0 105

7. Whatdo you mean by Scrap ? Explain the procedure of disposal

of scrap. 5,10
s | omTE 1 ot ¥ ? ovafine & Fremer W wRRA @ R
HT | : 5,10

12599

(3)

What do you mean by quality control ? Explain varous techniques

of quality control. 5,10
P P § AE SR 37 e PR R
qEARE B AT HE L 5,10
What is marine insurance ? State the procedure for settiement of
marine claims in case of inland transit ? 5,10
agér dim = 3 > gig it & wer §oagh S § P
F i 593 | 5,10

12599
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Printed Pages : 2
BCQ /D-18
INVESTMENT MANAGEMENT
Paper-BC-506, Opt. (I)
Time allowed : 3 hours] [Maximum marks : 80

Note : Attempt five questions in all. Question No. 1 is
compitlsory,

e g QT T PR T § 1 R &
Compulsory Question (sfrarf ww)
1. (a) Differentiate investment and speculation.
PR iR weenh & smaw @b
(b) What is risk and return relationship ?
w7 @ wy W=y R 7
(c) Whatare the characteristics of industry analysis ?
ST & favv R Adva w ¥ 2
(d) Define mutual funds.
AT 0 W oAl et
(e} Explain moving average indicators.
A TR R B auEEd | 5x4=20
2. Describe the features of an investment programme. What steps
should an investor follow to make an investment ?

w FAw w3 Rdwael & v Bt PR 5@ 3 Ru o
4% &0 R FEH IJo1d Aifew ? 15

12600 [Tumover

(2)

What is risk ? How can risk of a security be calculated ? Explain
your answer with the help of an example.
%ﬂﬁﬁﬁﬁaw%@dﬁﬁgﬁﬁﬂgww
T JHETT HI TERA & A I Ao | 15
What is listing of securities ? What are the obligations and
advantages of listed companies ? Are there any consequences of
non-listing,

sfrgferdt 1 e F & ? gefes RE @ afve ol @
B ? T smdee & W oo o ¥ 7 15
Explain the meaning of stock exchange, Explain the role played
by the stock exchanges in India,

ﬂﬂmﬂﬂﬂﬁmﬂﬂ_ﬁﬁmﬁamﬁa%%ﬂﬂﬂﬂ
Cadl 15

What do you understand by valuation of securities ? What are
the basic valuation models of bonds ?

%%&Wﬂﬂam@%ﬁﬂﬂwww%wwﬁwﬂﬁﬂﬂ
g7 15
What is fundamental analysis in investment management ? Explain
its features.

e s & e Redawr w1 & 7 el Rdwam S@d 15

-+ Discuss DOW Theory and its importance in Technical Analysis,

T BT 3 3 (DOW) =i ot 3o mew W e %
I5

. What is SEBI ? What role SEBI plays in regulation and

supervision of securities trading in India.

ﬁ%gﬂ%%ﬁmmwcﬂwwﬁﬁmgﬂzﬂ
wﬂﬂu%ﬂwﬁmgamwc&ﬁ%ﬂ@iw:m

12600
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Printed Pages : 2

Time allowed : 3 hours]

BCQ/D-18
GOODS & SERVICES TAX
- Paper—BC-507

[Maximum marks : 80

(2)

2.  Define Goods and Services Tax and explain the structure of

GSTinIndia,

ﬁﬁﬁﬁ&%&?ﬁ%ﬂﬁm%ﬁﬂﬂ
% el T

3. Explain the process and documents required for registration of

taxable person under GST.

owawsﬂﬁﬁ&ﬂﬂmﬂwﬂmﬁw@m%ﬂﬁn@a
I U= B e i

4. Explain the valuation of supply for GST Liability.

GST @i 8 omuft & geaiaet & =me #iRm

Note : Attempt five questions. Question No. 1 consisting five
short answer questions of four marks each is
compulsory. Remaining questions carry 15 marks each.

e ;. Gg g FC T Ho 1 Fred 9% A HH B
5oy gty g7 & wfad &1 99 AR gv 9%
15 sf & &

1.  Short answer questions :

(a) NeedforGST

(b) Time of Supply

(¢) Inputtax credit

(d) Name returns to be filed under GST
(&) GSToffence

qY IAGT 9 ¢

(@) N @& H mEIE

(@) ongft = T

(M S

(@ o E AP ade s B A A et F M sae
(® ™ d

12602

[Turnover

Explain the procedure for transfer of input tax credit.
F W@ B T ¥ wfwr @ 2wern B

Describe important contents of Invoice Tax Credit.
o6 B A B oAy sindegalt @ i By

Explain the interest provisions on delayed payment of GST,
GST % Refad TRA W = & Wauwt 3 s Hfa)
Describe the offences under GST,

GST & i Squel &1 ol #ifa |

Differentiate between CGST, SGST and IGST.
CGST, SGST @ IGST % st #iax we i |

12602
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Printed Pages : 3
BCQ/D-18
BUSINESS POLICY AND STRATEGIC
(MANAGEMENT)

Paper-BC-511
Time allowed : 3 hours] [Maximum marks : 80

Note : Artempt five questions in all. Question No. 1 is
compudsory.
Fe . g g 597 B I G ge7 g, 1 o @1
Compulsory Question (&Fad w1 )
1. (a) Whatare the barriers to strategy implementation ?
T # FRteaT § w@ e & 7
(b) mxv_mmb the different ways of formulating a mission staterment.
fagm Rede & Fato 3 Rt ol = R Sivm
{c) Whatis corporate culture ?
FRe Ffa & uiwia @it
(d) Howimprecise and unclear policies create problems for an
organisation ?
s AR, G A e v @ s w7

(e) Explain the difference between strategic and operational
control.

e dur giERe s § o oY 8 ?

2. Discuss with oxmBEww the interrelationship that exists between

the formulation and implementation of strategy. 15
Y 3 Faim ot Fates # o @ & SEE afed avia
| : 15

12606 [Tum over




(2)

- Whatare HR policies and strategies ? Explain their importance

in an organjsation. _ 15
A Hage Aot ofi it g ¥ ? ﬂaﬂfm,ﬂawnﬁmmz
qU FiFAY | 15

- Whatis the concept of environment in strategic management ?

Explain the different environmental sectors for the purpose of

strategic management. 15
iR 9 § qafarr & saren & Y ? oA me @ R
faftrw wgtato a5t @ ol ke 15

- Explain the risk management techniques adopted by the CEO of

a company for the key risks that a company faces in.global
scenario, _ _ 15
s digm ¥, @ Tt $ CEO s Mt 7 armr 2 3
for o o Al SifEs wEee ) RfE @ o BRm) 15

. Whatare the essential governance principles of corporate sector?

Discuss its importance in modem times. 15
B S 3 AEws e A9 @ ¥ 2 g @ §
TEd @ o PR _ 15

. How the relation between strategy and culture is deep-rooted ?

In what ways strategy-culture relationship leads to behavioural
control in organizations ? | 15

12606

(3)

THI MR a5l e wer A -} wetam ¥ 7
T AERE Fdaw ¥ BBy wer wews 2 7 15

. How will a comprehensive system of strategic control operates

inalarge sized business organisation ? 15

TF 93 FFER B FAQAE GreT ¥ ks P 8@ =us gom
frg g% gatem By ? 15

. Explain the process of strategic evaluation. Discuss the problems -
~ indesigning the evaluation criteria. 15

TN A B AR F A ARG JeiET Avevet @) R
# ¥ BA-H ww omh § 7 15

12606




(4)

Plot a line from origin (0, 0) to (6, 6) using Brensenhan's

algorithm method. 12
FoRw ettt Rl @ QU # g (0,0) T (6, 6) T
o @ G | 12

Explain aliasing and antialiasing with an example of each? 12
oRE B UF e ®Red CRenRET 4w et @
afei I | 12

12614

RoIINO. ..coooveercararnn 12614
Printed Pages : 4
BCQ/D-18
OOSEGH@W APPLICATIONS
Paper-BC-505
Computer Aided Designs

Time allowed : 3 hours] [Maximum marks : 60
Note : Attempt five questions in all and Question No. 1 is

compulsory. All questions carry equal marks.
P ;g U 997 B aar g5 To 1 afard &1 @l vl

& 3% T el
1. Compulsory Question : 6x2

Ffvad qe

(@) Define Image resolution and screen resolution .

Ao T T T I H IR HE

() Explain the structure of ICG (Interactive Computer
Graphics) system at software level.

aﬂwﬂﬂﬂ_ooﬂéﬁﬂaﬁm%%ﬂé
& G B AT H

(c) Describe a display processor of raster scan display.
Tt B e 3 o Req a1 au i
(d) Find the new co-ordinates of the point A (1, 2) after
rotation.
g7 3w &g A(1,2) ® T P @ 9
HiT |

12614 | [Tum over




(2)

(e) Translate the point(x,y)to(x £1,y +1)
g y)®(x 1,y £1) 9% ST S|
(f)  Definerefresh rate of a monitor ?

ﬁiﬁ%gﬂﬁ&%%_

Explain the following AUTOCAD commands : 3x4
(@ LINE
(b) TRIM
{¢) FILL
it alfdids fEet 3t amen it - 3Ixd
% LINE
(@ TRIM
(M FILL
Develop an algorithm to draw a line from point (1, 1) to point
(4, 4) using DDA (Digital Differential Analyser) method. 12
DDA (Rhew Reiftea waesm) By & sw@m &3 gu
B (LD 3 Rg @4 ™ @ W d 3 o
e faeRe i | 12

What is a Tag Image file format (TIFF) ? Describe its structure,
sections and format of (TIFF) file ? 12
& E0 g wiRAe (TIFF) @1 & 7 s |amn, @vst oo
w5 (TIFF) & 3d % q9ia i | 12

12614

(3)

Explain: 6,6
(a) Bit Depth and Color Depth
(b) AspectRatio
AT Fifo 6,6
(F) e =E o T A e
(® T

6. By takinga2-D figure as an example do as: 6,6
(a) Scalefigure (x, y)to h&, &u
(b) Rotate figure about origin (0, 0) at an angle 60°
T 2D oA 1 ST # 0 F Sl R ge, ki
e L 6,6
F FEAE YA ﬁ&u&v T @ﬂ iy
@ o @ q@(0,0)F e & Ho760° W g

7. Whatis Region filling ? Develop flood filling algorithm of
Polynomial fill ? 12
Tor Reffr o & 7 dfferivaa fker g s R st
faefima #im ) 12

12614 [Tum over
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Printed Pages : 3

BCQ /D-18

COMPUTER APPLICATIONS

Paper—-BC-506
Data Structure

Time allowed : 3 hours] [Maximum marks : 60

Note : Attempt any five questions. Question No. 1 is
compulsory.
@AE : FE UT 737 FQ g9 o 1 v €1

1. (@

®)

©

(@

®)

12615

Abbreviate _

FCFS, SLL, ISAM, LIFO

Tt w9 fafee -

FCFS, SLL, ISAM, LIFO

Define Linear Data Structure

Was ftwer do= H afvfva A

Differentiate ARRAY and LIST

R T g # SR W A

Write formula for address calculation in 1-D and 2-D
Array. 4x3=12
1-DdEr 2-D &R 7 ¥ o & fm @ fafag
Define ARRAY, its properties and types. Discuss storage
inARRAY.

Write an Algorithm to INS an element at K* position in
1-D ARRAY. 12

[Tum over
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(F W, 0@ T a gwd & Rafa Hifm ©
HUSRT i faaemr Hifvw | _

(@ 1-DW T K Rafy @ @ 7@ INS & 3 R @&
e fafag

Define Stack, its operations. Write Algorithm for PUSH and
POP in stack. 12

RE, T FhT F R AR RF F g e §

foe oo fafaa:

(@ Define Queue, Double Queue, Priority Queue and
Circular Queue.

(b)  Write Algorithm for INS in a Simple Queue. Explain this
with example. _ 12

(®) U, A did, S di qon Ty 9l B aRteie
A

(@ P T R § INS g sl Rifew) gt e
e A BRI

(@) Define SLL and CLL with its properties.

(b) Write Algorithm to INS at Start, a END and Positional
in Single Linked LIST (SLL). 12

(#) SLL@ar CLL I 56% o1 & °rg uivsfvg $ifm

(@ U Res g (SLL) § g, o o Rerdig 93 INS
% fom arEnior g

12615
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Define TREE, Binary Tree and Full Binary Tree. Write Algorithm

using Recursion for Preorder and Postorder. : 12

R, AT H T G TEAY F A R BRI
T B & B Ree &1 Sw F1 g8 o Rif

Define file, its attributes and operations. Explain working of
Index-SEQUENTIAL Access file. 12

HE, T T q WAl @ o A ges

STIHHE THHE HIET B A Tl # AT v

(a)  Write an Algorithm for INS in B-TREE.

(b)  Discuss using example DEL in B-Tree with Degree of
freedom as 4. . i2

(F) B- 7 INSS R & sreifven ffaq)

(@ & A Hie F &9 F 4 @ea B-d & DEL S0 &
IYANT A T ARAT HITC |

Write note on :

(a) Applications of Stack

(b) DIRECT file 12

feaoft fafaw -

@) WH & I

(@) T EEA
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Printed Pages : 2
BCQ / D-18
OFFICE PRACTICE (PART-A) THEORY
Paper—OMSP-BC(Voc.)-305

Time allowed : 3 hours] [Maximum marks : 60

Note : Question No. 1 is compulsory. Attempt four questions
from the remaining eight questions. All questions carry
equal marks.

FT . §eT GEg 0F sivard &1 99 ofe ge § @ FiE i 5997 Fg
woft got & of% gErT B

Compulsory Question {sifvard u5)
1. Define shortquestions: 12

wierg wedt #r uftam 4
(a) Consumption of Papers

A B I
by Clips

- Tt

(¢) Erasers

fem am we
(d) TourAdvance

N qerlt
(e) Envelops

FeTTRTHT
) Tour

piet

12616 {Turnover
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What do youmean by Carbon Papers ? Explain their importance
in modern office use. 12

ﬂ%aazﬂmﬂqwﬂhﬁﬂyamﬁ%ﬁamMAWﬂﬂamwmaEH&Wﬂ_

What is quorum ? Explain its characteristics and importance for
holding official meetings. 12

P e A 3 7 g w4 ai Al A g f s
F TR BT |

Explain the importance of Post Office Guide. 12
Jre oifftpm Fiform & wed B @ B

Draft a Specimen of Railway Time Table for any distination of

your own choice. 12
et f T B R ITHT ZeoT A U 100 TRA Sud & A SR
Explain procedure of air reservation booking. 12

ward fome & giim &0 3 abEa @ e iR

Explain the importance of Hotel accommodation booking in
advance. 12

T & & dew gl @ g & ded B A B

Prepare a tour advance procedure for atour programme at your
level ina proper forms. 12

qET TEAEE A @ R P I9gE B ¥ o 95w W I I
o & fae qar Sl )

Prepare a T.A. Bill sample for a tour at your choice for any any
tour destinations. 12

ST 5 @ s A AN B @ A Red o A 3 R fIR
BT |

12616




ROINO. woveeemvr 12617

Printed Pages: 3
BCQ/D-18
PP1
Paper-BC-505
Property and Liability Insurance

Time allowed : 3 hours] [Maximum marks : 80

Note : Attempt 5 questions in all. Question No. 1 is compulsory.
It carries 20 marks. Attempt any 4 questions from the

remaining 8 questions. Each question carries 15 marks.

e FTS g B T e 1 20 5% & g o 2 9
8 gol 7 & el 4 3 397 Sy o meT 15 et 3 &y

1. Write notes on the following : 5x4=20
P ox dfar feoroft fordt
(1)  Crop Insurance
RG]
(i) Indemnity Contract -
gl srgE
(1) Zmz.:o of Property and Liability Insurance
TR w9 3F S AR gl
(iv) Insurable Risk

M arg Afaw
(v} Re-Insurance

AT
12617 [Tum over
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What do you mean by Liability Insurance ? What are the various

npes of liability insurance ? 15
e 4w | F eRmE ¥ 7 3gw d 3 R ger a7

Who is an agent ? Explain the legal positiononanagent? 15

THe HH B 8 ¢ Uee & duitre Rufy @ aoH &t

4. What do youmean by Aviation Contract ? Describe its benefits
and exceptions. 15
fmem @M @ o AwE § 7 3OS aMl W@ AR A& oA

5. Write notes on the following :

(a) Destruction Insurance 8
{(b) Employces Liability Insurance 7
Fr=t @ i feaoh ford -

() damE! =

(@) Fa afea <

6. Describe the meaning and nature of dishonesty insurance. 15
Aot I B o @ R # aw w

7. Write notes on the following :

(a) Provisions related to personal and residential insurance 8
(b)Y Medical Benefit Insurance 7
12617

(3)
fr=1 g7 i feupeli o
(F) Fefl o sadm 4m @ wafaa ge gEeE
(m) Fafeem @9 &

8. Writenotes on the following :

(a) Auto Insurance

(b) Dwelling Property Loss
Frer o7 dfarer feoelt fod -
(%) &3 g

(@) Fam & g e

12617
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Printed Pages : 3
BCQ/D-18
PPI
Paper—BC-506
Group Insurance and Retirement Benefit
Scheme
Time allowed : 3 hours]

[Maximum marks : 80

Note : Attempt five questions in all. Question No. 1 is
compuisory,

Fe: g OF ged 3 I Gy T & 1 aRad &)

1. Define the following : 5x4=20
Pyefefaa @1 afvamn df

(a) Eligible groupsunder Group Insurance
e dm g9 & 9 TR

(b) Meaning and features of Group Insurance
aae i @ o oF fadeE

(¢} Unit linked Insurance Plan
gfre Riwe dm A

(d) Rules regarding forfeiture of Gratuity
gt o 3 Fam

(e) Leave Encashment
SEHN B THHT

2. Write a detailed note on objectives and advantages of group
insurance. 15

W 4 & e g W W g Tl fak

12618 [Tumover
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3. Differentiate between group insurance and individual insurance.
What are the conditions for becoming eligible for group insurance?
Explain. | 15
ﬂammzqmwaﬂﬁwﬁﬂmqﬁaAﬁﬂm&ﬁﬂ_mﬂwﬁﬂgw%Haﬂﬁ
% e - od ¥ 7 v A

4. Compare and contrast between ‘Defined Benefit’ and ‘Defined
Contribution’ Superannuation Schemes. 15
Fftea @ o FRem sfaam s Tevr gl Qo @ qam
U I R A i

5. Describe various types of pension schemes. What are the rules

regarding commutations of Pension ? 15

i R &t Qe Aot @ A AR T B ey ww
T am Be-a 3 E 7

6.  Explainin detail the benefits offered by Employees family pension
scheme. What is rationale behind operating such scheme ? 15

A QA U Ao & At 6 frge e FRw ) 38 geE
A AT T B O oA § 7

12618

(3)

7. Define Group Gratuity Scheme. Describe the benefits offered

under such scheme, 15

e Jegdt Qe F) o SR | 38 g @ et et b
8. Examine the need for P:nmbm gratuity liability of an employer.
15
W D @ I A & R R e anedt smve w
R SHifomT )

9. Describe how the unit linked Insurance Scheme operate. 15

o g foe g @ ofaes @ aren St

12618
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Printed Pages: 2

BCQ/D-18

12620

SALES PROMOTION AND PUBLIC

RELATIONS-I

Paper-ASPSM-BC (Voe)-506

Time allowed : 3 hours] [Maximum marks : 80

Note : Attempt five questions in all, Question Number 1 (one)

is compulsory.

e g o gy @ I A ger wear 1 (0w) shard &

1. Write short notes on following :
Frefiad o it ool g -
(a) Objectives of Sales Promotion

[EER ECELT M)
(b) Gift Offers
SUETT T
ﬁnv Frce Tnal Offer
R S WA
(d) Reuseable Container
QI § S gl &
(e) Purchase Allowance

Y R/

5x4=20

2. Whatissales promotion ? Explain the rolc of sales promotion in

marketing,

15

fpa wads 7 & 7 R Ry dadd @ g @) aren @)

3. Explain the main forms of sales promotion schemes.

fasy dade QoA & g ot @ amen 7|
12620
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(2)

“Sales promotion supplements advertising and personal selling”.
Comment. 15

‘fora dad7 Temw 9 FafwE wm @ Ay B AR

Explain fashion shows and trade exhibitions as tools of sales
promotion. 13
fep doda & W & w0 § Gae-o au AR et @ A
F|

Explain various types of sales contests. How can sales contests

be made more effective ? 15

e ufgaifamet & Rt oo @ = &7 e ofefmet &
afte yarlt S8 gwan s ogwar 8 7

‘Sales promotion schemes cannot be run in the long-run.’
Do you agree 7 15

for wadw domm e @ Fe T8 FAR @1 @ed ) F® oA
qEAg & 7

Explain the steps to be taken for running sales promotion
programme. Also explain the limitations of sales promotion

programme. 15
foera dad FRiEs F Ta) 99§ Rt 9on @ s 7 e
Tads HAER H ARl & A @ B

Write shortnoteson : 8+7=15
(a) SalesDisplay _ (b)y Sales Conference
dlerg el e -

(%) fesr wesle (@) fawa geaq

12620
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RollNo. ..o : 1 N@NM
Printed Pages : 7 _
OBCQ /D-18
INCOME TAX-1
Paper-BC-501
Time allowed : 3 hours] [Maximum marks : 80

Note : Question No. 1 is compulsory and answer to each
question should not be more than one page. Candidates
are required to attempt any four questions out of
remaining eight questions.

A hﬂmﬁie@ﬂﬂwmﬁﬁaﬁqﬁ%ﬂ@&%g

T & M T 9o T BF e g HITT 1
1. O Distinguish between Gross Total Income and Total
Income. . 3
WET T M 7 FF oW T saw i
(i) Explain Agriculture Income in Income Tax. 3
AT 7 FN o B gwmEy
(i) Define Assessment Year. 2
FT e ot @ ofmfyg
(iv) Write a note on Entertainment Allowance. 2
AR wA G el Ry
(v) Whatis Indexed Cost of Improvement 9 3
YIR 1 guFiE wva ¥
(v} What is Permanent Account Number ? 3

T AT dem g Y 7

12621] C Tumower
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Explain any fifteen items which are not included in total

Income. 16

X TEE O H GUERT S g9 A § T S Snen

Sri Om Prakash was appointed as a workman in a factory on
1st January, 2007 in the pay scale of 5,200-400-10,400. On
1st August, 2016 his services were terminated at the time of
retrenchment on account of closure of business and he received
a compensation of 40,000 from his employer under the
Industrial Disputes Act. He was entitled to avail earned leave of
30 days each year. At the time of termination of his service he

was also paid T56,000 for 8§ months earned leave not availed of

by him during the period of service. On 1st December, 2016 he

got another appointment on a monthly salary of ¥ 8,400. On st
Februarv, 2017 in order to meet the expenses of his daughter’s
marriage, he received an advance of 4 months salary and also
took a loan of ¥ 15,000 from his employer for the purpose.
Determine his taxable income under the head of salary for the
Assessment Year 2017-18 assuming that the salary is due on .50

first of the next month. 16

12621

3

A ST AT T B F 1 oFad, 2007 8 5,200-400-10,400%
AT F A B w9 F Frggg gom) 1ewTd, 2016 € a9
T2 B & B g @ ol qur ome A T g & ) ol
3 o PRI @ ol R sfafiag @ s 40,000 2
F U AR B wY T oara BT oy At 30 Re @ i
SEHRG I H AET 07| A T T B gy 9@ § 4w B
ﬁﬂmgﬁ@w@ﬁ%%ﬁi@mﬂmmm@w_ﬁé%b%
TR B3| R, 2016 1 36T 8,400 R 1 9 gy
TRl A FHT A1 e B F B A ad A Y o
Fraeer & 1 &adl, 2017 4 70 77 397 o Rear o 15,000
T 1 o | 9 7 g R A o W ) weeh Rify 9 39

wﬁ@%ﬂmo:-;waam@ﬁn%ﬁ%ﬂ.&a
G F o FHifa

What do understand by the term ‘Annual Value of House
Property’? How would you determine the annual value of a

house property which remained vacant for the partofthe previous

yedr. 16
hﬁm-%wﬂﬂawﬂ”mﬁmﬂaﬁ%ww,%%

B ANE g A B g e B A o ot 7 g
=Y & fw el = e
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gwﬁ%%&uﬁmw%@%%ﬂw&ﬂmﬁw

Wl WL )

Pt e

3 fom

/A T

? 2 ?

P P e & ot 15000 20,000 -

f&aan

HMm — 18000 18000 35000
E———— 120 240 360
T ! 200

pa 0 10 60
- 1800 7,000 400

4
5. X has occupied three houses for his residential purposes,
particulars of SE%. are as follows :
House-l House-Il House-III
{opted as
self occupied)|
3 < T
Standard Rent under the Rent Control Act 15,000 20,000 —
Municipal Valuation 10,000 30,000 30,000
‘| FairRent 18,000 18,000 35,000
K:E.&v& Taxes Paid 1,200 2,400 31,600
Repairs Nil Nl NS_
Insurance Premium 1,200 1300 600
Ground Rent 1,300 7,000 400

X borrows I 30,000 @ 20 per annum for construction of

House-III (date of borrowing : 1st June, 2009, date of repayment

of loan : 10th May, 2017).

Construction of all the houses is completed in May, 2014.

Determine the taxable income of X under the head ‘Income

from house property’ for the Assessment Year 2017-18.

12621

16

ud | qEL T wﬁ%wﬁﬂmob%ﬂwaaﬂﬁﬁﬁw
%ﬂﬂﬂ@afﬁs%&aﬁgﬁ“ 2009, 1 G
=3 & Rl 10 7, 2017)1 e
2 Tar a1y T -
ﬁ&%ﬁﬂaﬂﬁmoiﬂﬁﬁ
ﬂ%ﬂﬁuo:-;wﬁnx%.%@ﬁ%ﬂ%&g

FNT

Explain the following :

G) Capital Assets

() Costof. Acquisition of Capital Assets

12621
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e & TRy -
@ N wRE
() @mﬁgﬁaﬂﬁw&@ﬂ

M. Hanuman submits the following particulars about sale of assets
during the year 2016-17 :

Jewellery Plot Gold

4 4 4

Sale Price 7.00,000  18,24,000 5,00,000
Expenses of sale Nil 24,000 Nit
Cost of acquisition 75,000 2,00,000 1,00,000
Year of acquisition 1987-88 1984-85  1999-2000

He has purchased a house for ¥ 15 lakh on 1-3-201 7. Calculate
the amount of taxable capital gain if CII for 1984-85, 1987-88,
1999-2000 and 2016-17 are 125, 150. 389 and 1125
respectively. 16
fir. ﬂﬂwﬂmoa:m%ﬁwﬂﬂw_ﬂﬁﬁ
R

erf e T

4 4 4

fasea ged 7,00,000  1824,000  5,00,000
Rep & =9 = 24,000 A
Hftprer & @v| 75,000 2,00,000 1,00,000
Afme #1 9 1987-88 1984-85  1999-20600

12621

*

)

S 1.3.2017 B @ FHA 15 @@ I H G H-ara
& TorT @i, 3R 1984-85, 1987-88, 1999-2000 T
2016-17 &1 @ whfy gaw Fa: 125, 150,389 7 1125

PA L L

1

What deductions are allowed toa businessman in computinig
profits ? Specify the expenses disallowed. 16
ﬁ%wi%%%mﬁ.ﬂ%%wm

Write short notes on

() Income from Interest 6
(@) Profitor Losson sale of securities. 10
forey o e gl R

) == A e

(i) uﬂmﬂawwﬁﬂﬂﬁﬂﬁ%_
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